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MZALEF T $ 50 = _
PEEAH  HUIH
BHELUFRET ¢ 50 b 1 + 1 = 1
ERARET $25 H 1 1 ERA - HEF = 1
RKERETAAT $25 [m] 1 1 = 1
H#
IV MFET $50 7.5K [m] 1 1 = 1
wHiEeR Hiass
I3V MFET $50 7.5K [m] 1 1 = 1
BT Bk
B EUIM T ¢ 50 m} =
BT Bk
B ERERYAHS ¢ 50 m x =
BEFEA-THEL ¢ 50 m 71.3 = 71.308
EHRT-7L W=50 m 71.1 = 71.128
T3
BEEEE - T W=150 2{& m 72.9 = 72930
WKEHEBRT B 2% B it m 71.3| 71.308 = 71.308
@ 250 H=0.80
HUFRASSEMRT C154Y'RK BT 1 1 = 1
T+ A ¢ 250
Ly Uy AR T FREH H=50 & 1 1 = 1
T+ A ¢ 250
Ly Uk ) AR T L& H=150 & =
T+ A ¢ 250
Ly k) ARfT T L+ TF#& H=300 & 1 1 = 1
T+ A ¢ 250
LY Uk IR T JEER (Afz) H=40 | & 1 1 = 1
@ 350 H=0.80
ERFAAKBEAT AR 25 #® 1 1 = 1
T+ A ¢ 350
Ly k) ARfT T FREH H=50 & 1 1 = 1
T+ A ¢ 350
Ly oy AR T L& H=150 & 1 1 = 1
T+ A ¢ 350
Ly Uk ) AR T T & H=300 & 1 1 = 1
T+ A ¢ 350
LY Uk IR T EE8 (M) H=40 | & 1 1 = 1




HPPE ¢ 5O0OmmEKERRT HEHEE

=3E - 1% : HPPE ¢ 50mm : L=71.308m(70.810m)

058 ¢ 50mm 1E

ST @ 25mm 1E

HEJKE : VLP ¢ 50mm : L=2.900m(2.300m)

ER T #81):0.60m~1.40m NO. 2
5 4 R A
TiE £ KT ZE S % & H %
7 | [HEKE ¢ 50T T
VLPHIE
MNOEFERTT ¢ 50 m 2.9] 2.900 = 2900
YIERH
NOERFEYT ¢ 50 =] 4 4 - 4
ey PIEE S
MNOFMERFT ¢ 50 m] 8 4 x 2 = 38
RUAHES VLIMVE &5
NORFERFT ¢ 50 a 6] 5 + 1 = 6
B35V
I3V HFET ¢ 50 7.5K [m] 1 1 = 1
BEEEE - T W=150 2{& m 23 = 2300
v9Y—hEIFL HIFLE ¢ 80 kA 1 1 = 1 B SR
[HKE ¢ 251E1FT T ]
VLPHIE
MNOERFERTT ¢ 25 m =
YIERH
NOFRFEVITT ¢ 25 a =
ey PIEE S
NORMERFT ¢ 25 a x 2 =
RUAHES VLILHK
NORMERFT ¢ 25 a + + 2 =
BEEEE - T W=150 2{& m =
av9)-rEIFL Bl FL7Z ¢ 80 fl =
@ 250 H=0.80
HEUFRASKERET CH154Y'RK B 1 1 = 1
T+ A ¢ 250
VY Uk AR T SHEER H=50 & 1 1 = 1
T+ A ¢ 250
Ly Uy AR T L+ TF#& H=300 & 1 1 = 1
T+ A ¢ 250
VY Uk AR T JEER (Afz) H=40 | & 1 1 = 1
(£T]
¢ 50 BE SR & 41 SR 8D
EHLT@-3 EEEEG5-5-10-25)| m 70.8| 708 XEBTFBELTToE = 708 | mAE#E
¢ 50
AL TD-4 EEEEG-5-10-25)| m 2.1 241 = 21




Aid/KE HPPE ¢ 50 1 FHE B NOE T e = 0% = 0.25
oY) E - .
3 7% tl]is
bt X iR B &[EE R E X|FE ER E S|FES BRE SIFSE BRI E & t 2
PP 3.0301 b PP 1.820 4.850 0.150 2
3.03 1.82 53 % % 7%
PP 2.820] ¢ PP 1.760 4.580 0.420 2
2.82 1.76 53 % % 7%
PP 4.010 4.010 0.990 1
4.01 7% % 7% % 7%
PP 1.650] f PP 0.629| h PP 0.629 2.908 2.092 3
1.65 0.63 0.63 % 53 7%
PP 2.820 2.820 2.180 1
2.82 7% % 7% % 7%
L —r U RES HPPE ¢ 50 L = 5,000 5 A 19.168 5.832] 9




%6

mELtT eSSkt ) OB &
I N e e R | LIl LR o 2 B
+T @-3
BERRE DF % b
IP.108-8.120 — 0.80 — — EESEES
IP.108 8.120 0.80 0.80 6.496
IP.109 2.000 0.80 0.80 1.600
IP.110 3.000 0.80 0.80 2.400
IP.111 1.830 0.80 0.80 1.464
IP.112 19.210 0.80 0.80 15.368
IP.113 0.600 1.40 1.10 0.660
IP.114 1.980 1.40 1.40 2.772
IP.115 0.600 0.80 1.10 0.660
EP 33.470 0.80 0.80 26.776
& i 70.810 58.196 & i — —
LTTHER = 70.810 m L TIEE —
Py =  58.196 <+ 70.810 = 0.82 m EEE T4 —




T I ¥ R K i %
No. 2 NO. 1 TI@-2 NO. 2 TID-4 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
50mmHPPEEE K & 70.8 =EE L 21 =EEL SEE L SEE L SEE L SEE L SEE L CER L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 141. 60 2.00 4.20 145.80 ) ( 150 )
SEUMT t=15cmA T m
AsEiZEhR 1.40 99.12 0.60 1.26 100. 38 )| ( 100 )
SHERREFA T [t=10cmA T m2
BHO. 28m3 1.09 17.17 0.46 0.97 78.14 )| ( 80 )
AR R T ME L m3
BHO. 28m3 0. 36 25.49 0.15 0.32 25.81 )] ( 30)
HHERT BER m3
BHO. 28m3 0.24 16.99 0.09 0.19 17.18 )| ( 20)
HERT HESL m3
(RC-30) )¢ )
TREERET t=10cm m2
(RC-40) 1.40 99.12 0.60 1.26 100. 38 )| ( 100 )
TRERET t=25cm m2
(RM-30) )¢ )
LRERET t=12cm m2
(RM-30) 1.40 99.12 0.60 1.26 100. 38 )| ( 100 )
LRERET t=15cm m2
BAZTHLAs13mm 1.40 99.12 0. 60 1.26 100. 38 )| ( 100 )
B R 18 16 t=5cm m2
BitunT 0.82 58.06 0. 36 0.76 58.82 ) ( 60 )
(£8) 41DT m3
EER Y 0.14 9.91 0.06 0.13 10.04 )| ( 10)
(AS) 4tDT m3,
ZAE 0.33 23.36 0.14 0.29 23.65 ) ( 23.7)
ASH% t
EEEE 1.40 99.12 0.60 1.26 100. 4
HREREIR (5-5-10-25) m2,
TEEE
HRE{REIR (5-10-10) m2,




T I #% E & & EBE
No,3
WS = @D-2 HPPE#T5 L= 70.8 m FERENImEmE
Brias B = [ FE (5-5-10-25) H= 0.82 m (F%)
EREE = 0060 X 0060 X x /4 = 0.003
EHE = X /S 4 =
Im2%47
% B EA H | & & i =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 140 = m2 1.40
AT BHO.28m3
Wb A FEE £ 1.00 X 1.40 X( 0.88 — 0.10 )= m3 1.09
T BHO.28m3
K NFRED AR 1.00 X 1.40 X 0.26 — 0.003 = m3 0.36
T BHO.28m3
LG TN A 1.00 X 1.40 X 0.17 = m3 0.24
TSI T (RC-40)
t=25cm 1.00 X 1.40 = m2 1.40
RS T (RM-30)
t=15cm 1.00 X 1.40 = m2 1.40
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 1.40 = m2 1.40
LG T 4DT Al AL
FEAA 1+ 1.09 —( 0.24 + 0.90 )= m3 0.82
FELH T 4tDT
FEAB TAT7 MR 1.00 X 1.40 X 0.10 = m3 0.14
TAE
TAT7 b 0.14 X 235 = ¢ 0.33




T I #% E & & EBE
No,4
WA =  (@D-4 VLP$50 L= 2.1 m HKkE
Brias B = [ FE (5-5-10-25) H= 0.80 m
sEHEE = 0060 X 0060 X x / 4 = 0.003
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
- A - FEE A 1.00 X 0.60 X( 0.86 — 0.10 )= m3 0.46
T BHO.28m3
LRI AR 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
1. BHO.28m3
LN A 1.00 X 0.60 X 0.15 = m3 0.09
TSI T (RC-40)
t=25cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=15cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 0.60 = m2 0.60
LG T 4DT Al AL
FEAS 177 0.46 —( 0.09 = 0.90 )= m3 0.36
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.10 = m3 0.06
TAE
TAT7 /iR 0.06 X 235 = t 0.14




HPPE ¢ 7TS5mmEKERRT HEHEE

L% o 7omm 28 EXF: 025mm 15

R 18 Y:0.60m~1.40m NO, 2
5 4 R A
L 5 BRTE | % & | EHR H_Z
JKEELKE B EFZOFMES BER(ME  RERE)
¥ KYIFLYE ¢ 75 % 5,000 PN 2| 5.000 5000 x( 1 + 1 ) = 10.000
KEEKE R 7’V-VINEE
FYIFLVE ¢ 75 % 5,000 N 2 DEREEY = 8084 yIEA
FYIFLVE A m BER(HE  REREQ
EF45° AN ¢ 75 45° & 6| 0.380 0380 x( 6  + ) = 2.280
HYIFLVE R kS
EF22° 1/2A°YN $75%22° 1/2 & 0.280 0.280 x( + ) =
FYIFLVE A GF-7.5K
PEFELOMI7VVEE 75 & 1] 0.400 0400 x( 1+ ) = 0.400
FYIFLYE A RER(HE  RERQ
EFYfryb b5 & 3 1 + 2 = 3
FYIFLVE A
A2UT 1 @ 75% 50 & 1] 0.340 0.340 x( + 1 ) = 0.340
GF#%-7.5K BERNME BEEEQ)
PEE Ot HHEUTFE $75% P75 E] 0.730 0.730  x( + ) =
PEHEO{FY7b - H Y15 675 & 1] 0.780 0.780  x( + 1 ) = 0.780
7.5K
YIRS -L it R 75 & 1] 0.240 0240 x( 1+ ) = 0.240
Tha4 L8Rk E B GXH
EEERT $ 100X ¢ 75 & 1| 0.825 0.825 x( + 1 ) = 0825
Tha4 L EEEE B GXT )
EEERT 75 & 0.615 0615 x( + ) =
(1)| 0.170 0.170  x( 1 + ) = 0170 #Hi
(GXF 750V [RTFE) $ 150X ¢ 75 & X + ) = $150TE L
H700 BEROME  EEEQ)
EEHERAHR ST $25 75K b 1 1+ = 1
FYIFLVE A
Y5 K iE P75% P25 = 1 1 + = 1
PCY 3{ub 75 & 1| 0.046 0046 x( 1+ ) = 0.046
SUS304BN -1 L\ - iR BERER0
GXFs ERERESL SR 675 #A =
BEROME  EEEQ)
1V HEER ¢$75 15K 4@ 2 2+ -
FCD
Ay H=500 7 1 1 + = 1
EEER = 23.165
FRATD R9b REE0ME EEEQ)
7300 Rk ¢ 75 #® 2 2+ = 2
¢ 75+ GFRsh Ahryh
770V F # SUS304BN-7.5K | #8 + =
A-TR B FRE EER
2B ERY-7 o 75M m 30.6 23165 x {60 x (1 + 01) + 50 = 30578
100m%Y
BEEA-TRAT-7 m 11.9 23165 x 510 =+ 100 = 11.814
ERER PE@EOML T ERF
EBRRT-7 W=50 m 22.1 23.165 — 0780 — 0.240 — = 22145
T3 THEERE PEEOL T ERF
BERAER - W=150 2{& m 21.9 22910 — 0780 — 0240 — = 21.890




HPPE ¢ 7TS5mmEKERRT HEHEE

L% o 7omm 28 EXF: 025mm 15

RS T 4Y:0.60m~1.40m NO. 2
5 4 R A
IiZ £ FBHKTE By % £ | B4R 1w _Z
@ 250 H=0.80 H=1.30

HUHE%E CH154+Y'K ® 2 1 + 1 = 2
oA ¢ 250

L WYL SRR H=100 & 1 1 + = 1
TUHH ¢ 250

Ly vik'yh R L& H=150 & 1 + 1 = 1
TUHH ¢ 250

L WYLS FREER H=200 & 1 + 1 = 1
TUHH ¢ 250

L WYL FREER H=300 & 1 + 1 = 1
oA ¢ 250

LY uik R L T# H=300 & 1 1 + = 1
oA ¢ 250

L WYL TE8 H=300 & 1 + 1 = 1
TUHH ¢ 250

LWL K& (M) H=40 | & 2 1 + 1 = 2

¢ 350 H=0.70

TRFAHKE Af2E ® 1 1 = 1
ERFH ¢ 350

Ly vik'yh R SHEEH: H=50 & =
ERFH ¢ 350

Ly vik'yh R L& H=150 & 1 1 = 1
ERFH ¢ 350

LWL TE8 H=300 & 1 1 = 1
ERFH ¢ 350

LY uik'y9R [EER (M) H=40 | & 1 1 = 1




HPPE ¢ 7TS5mmEKERRT HEHEE

1itJ]-jJTF: @ 75mm 25

ST @ 25mm 1E

RSt £ 451):0.60m~1.40m NO. 2
5 4 R A
TiE £ KT ZE S % & H %
FE (ERT]
BhE PE#E O T
FYIFLVERAT @75 m 22.1| 23165 — 0780 — 0.240 = 22145
1O#F) EE 45 w22 BL7a—4
EFtF T ¢ 75 m} 15/ 2+ 6 x 2 x 2 1 = 15
2A#%F) Yiryb
EFfF T b5 AT 3 3 = 3
yEAELY
FYIFLV BT b5 [m] 8 8 = 8
FYIFLVE PC
FHZhIVEFE T ¢ 75 m} 2 2 = 2
HERR(15%1 L) PC
FHZhIVEFE T ¢ 75 m} 2 2 = 2
PEEAH  HUIH
BRI RARET b5 = 2 1 + 1 = 2
ERARET $25 = 1 1 ERA - HEF = 1
RKERETAAT $25 [m] 1 1 = 1
wHEeR &8
IV MFET ¢ 75 7.5K [m] 2] 2 = 2
EmEES
GXF #F T b5 (517 =
BT Bk
B EUIM T 75 m} 2 2 = 2
BT Bk
BREHERYAHS @75 m 1.0 1 X 1.000 = 1.000
BEFEA-THEL ¢ 75 m 23.2 = 23.165
EHRT-7L W=50 m 22.1 = 22.145
T3
BEEEE - T W=150 2{& m 21.9 = 21.890
WKEHEBRT B 2% B it m 23.2| 23.165 = 23.165
@ 250 H=0.80 H=1.30
HUFRASSEMRT C154Y'RK BT 2001+ 1 = 2
T+ A ¢ 250
Ly Uy AR T FREH H=100 & 1 1 + = 1
T+ A ¢ 250
Ly Uk ) AR T L& H=150 & 1 + 1 = 1
T+ A ¢ 250
LY k'R R T & H=200 & 1 + 1 = 1
T+ A ¢ 250
LY kAR T & H=300 & 1 + 1 = 1
T+ A ¢ 250
Ly Uk ) AR T L+ TF#& H=300 & 1 1 + = 1
T+ A ¢ 250
Ly k) ARfT T T & H=300 & 1 + 1 = 1
T+ A ¢ 250
LY Uk IR T JEER (Afz) H=40 | & 2l 1+ 1 = 2
@ 350 H=0.70
ERARAKBEAT A28 B 1 1 = 1
EXTHA ¢ 350
VY Uk AR T SRHEER H=50 & =
EXTHA ¢ 350
Ly Uk ) AR T L& H=150 & 1 1 = 1
EXTHA ¢ 350
Ly k) AR T T & H=300 & 1 1 = 1
EXTHA ¢ 350
LYk IR T JEER (Af2) H=40 | A 1 1 = 1




HPPE ¢ 7TS5mmEKERRT HEHEE

L% o 7omm 28 EXF: 025mm 15

RS £4Y:0.60m~1.40m

NO, 2
5 4 R A
TiE £ KT ZE Z H %
[+T]
¢75
EEEITD-3 EEHEE(5-5-10-25) 22| 22 2.2
¢75
TR B EE(5-10-10) 11.2] 112 1.2
@75 B B 380
EHI+T@-2 58 B 58 (5-5-10-25) 95/ 95 KTBIFHELITHE 9.5 RS




Aid/KE HPPE ¢ 75 LIEFFE B NOE T e = 2% = 0.25

2o Y E - .
X E EllEs
W 55 pk B s|ES pk B s|Es pn B S| wk B s|Es mk B x| | P

%]

A PP 0.250] B PP 0.469( C PP 0.370] D PP 1.500( E PP 1.720 4.309 0.691 5
0.25 0.47 0.37 1.50 1.72 Fk

F PP 0.456( G PP 0.764] H PP 2.555 3.775 1.225 3
0.46 0.76 2.56 5% F &

FL—r T RE® HPPE ¢ 75 L =5,000 2 ZN 8.084 1.916] 8




%6

mELtT eSSkt ) OB &
Woa | B gy T W% (W s e T e ] W%
+T @©-3 T ®-1
IP.104 — 1.30 — — o 1557 || IP.104+2.200 — 0.70 — b 1557 I
1.250 1.30 1.30 1.625 0.390 0.70 0.70 0.273
0.600 0.70 1.00 0.600 1.880 0.70 0.70 1.316
0.350 0.70 0.70 0.245 7.100 0.70 0.70 4.970
0.830 0.60 0.65 0.540
1.000 0.60 0.60 0.600
& i 2.200 2.470 & i 11.200 7.699
TR = 2.200 m TR = 11.200 m
FE AW = 2,470 + 2.200 = 1.12 m FH AW = 7.699 + 11.200 = 0.69 m




T I ¥ R K i %
No. 2 0. 1 TI®D-3 NO. 2 TI®-1 NO. 3 TI@-2 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
75mmHPPEBE K & 22 =EEL 1.2 =EEL 9.5 =EEL SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 4.40 2.00 22.40 2.00 19.00 45.80 ) ( 46 )
SEUMT t=15cmA T m
AsEiZEhR 0. 60 1.32 0.60 6.72 1.40 13.30 21.34 )] ( 21)
SHERREFA T [t=10cmA T m2
BHO. 28m3 0.67 1.47 0.44 4.93 1.1 10. 55 16.95 )| ( 20)
AR R T ME L m3
BHO. 28m3 0.17 0.37 0.17 1.90 0.40 3.80 6.07 )| ( 6)
HHERT BER m3
BHO. 28m3 0.28 0.62 0.14 1.57 0.21 2.00 4.19)( 4)
HERT HESL m3
(RC-30) 0. 60 6.72 6.72 )| ( 1)
TREERET t=10cm m2
(RC-40) 0.60 1.32 1.40 13.30 14.62 )| ( 15)
TRERET t=25cm m2
(RM-30) 0.60 6.72 6.72 )| ( 1)
LRERET t=12cm m2
(RM-30) 0.60 1.32 1.40 13.30 14.62 )| ( 15)
LRERET t=15cm m2
BAZTHLAs13mm 0.60 6.72 6.72 )| ( 1)
B R 18 16 t=3cm m2
BAZTHLAs13mm 0. 60 1.32 1.40 13.30 14.62 )| ( 15)
B R 18 16 t=5cm m2
RitunT 0. 36 0.79 0.28 3.14 0.88 8.36 12.29 )| ( 10)
(£8) 41DT m3
RitunT 0.06 0.13 0.03 0.34 0.14 1.33 1.80 ) ( 2)
(AS) 4tDT m3,
2ZAE 0.14 0.31 0.07 0.78 0.33 3.14 4.23)|( 4.2)
ASH% t
EEEE 0.60 1.32 1.40 13.30 14.6
HRE{REIR (5-5-10-25) m2,
HEEE 0. 60 6.72 6.7
HREREIR (5-10-10) m2,




+ I # it B =
No, 1
Wrigds = (AD-3 HPPE$75 L= 22 m
Brias B = [ FE (5-5-10-25) H= 112 m (¥#)
s = 0090 X 009 X x / 4 = 0.006
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 1.21 — 0.10 )= m3 0.67
HHEE T BHO.28m3
LN AR 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 047 = m3 0.28
TSI T (RC-40)
t=25cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=15cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=bcm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.67 —( 0.28 =+ 0.90 )= m3 0.36
FE T 4DT
TGS TR 1.00 X 0.60 X 0.10 = m3 0.06
TAE
TR 7/ 0.06 X 235 = ¢ 0.14




T I #% E & & EBE
No,2
Wrigids = (@-1 HPPE¢75 L= 11.2 m
Wrigi4 B = i #aE (5-10-10) H= 0.69 m (F#)
s = 0090 X 009 X x / 4 = 0.006
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.78 — 0.05 )= m3 0.44
HHEE T BHO.28m3
LN AR 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.24 = m3 0.14
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEAHG T 4DT P+ A+
FBUAL | 0.44 —( 0.14 =+ 0.90 )= m3 0.28
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TR 7/ 0.03 X 235 = ¢ 0.07




T I #% E & & EBE
No,3
s =  (@-2 HPPE#T5 L= 9.5 m BEREHRAERE
Brias B = [ FE (5-5-10-25) H= 0.80 m
EREE = 0090 X 0090 X x / 4 = 0.006
EHE = X /S 4 =
Im2%47
% B EA H | & & i =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 140 = m2 1.40
AT BHO.28m3
Wb A FEE £ 1.00 X 1.40 X( 0.89 — 0.10 )= m3 1.11
T BHO.28m3
K NFRED AR 1.00 X 1.40 X 0.29 — 0.006 = m3 0.40
T BHO.28m3
LG TN A 1.00 X 1.40 X 0.15 = m3 0.21
TSI T (RC-40)
t=25cm 1.00 X 1.40 = m2 1.40
RS T (RM-30)
t=15cm 1.00 X 1.40 = m2 1.40
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 1.40 = m2 1.40
LG T 4DT Al AL
FEAA 1+ 1.11 —(C 0.21 =+ 0.90 )= m3 0.88
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 1.40 X 0.10 = m3 0.14
TAE
TAT7 /iR 0.14 X 235 = t 0.33




DIP-GX(P) ¢ 150mmEcKEMRIRT HSFHEE

TU)3F: P 150mm 12  ZESIF: @ 25mm 1E HMNIE: d Tomm1E

FEREH: £ #5Y:0.70m~1.30m NO, 1
E 4 R A
TiE £ BRTZE H % 8 EHE B =
SEE - NEME BER() EEEQ  AREE
H#H | GXE SRR E @ 150 x 5,000 'S 33 5.000 5000 x( 26 4+ 1 4+ ) = 165.000
SIEE - NEMMA
GXHZ #9910 EEE%E ¢ 150 x 5,000 X 5 DERAELY = 17820 4&H
GXF —2TF% $150% ¢p75 & 0.450 0.450 x( + + ) =
(1)) 0.150 0.150 X ( + 1 + ) = 0.150
GXF; —2TFEE ¢ 150 X ¢ 150 1& 1 0.560 0560 X ( + 1 + ) = 0.560
GXI; HBELZAEE @ 150 X ¢ 100 1& 1] 0420 0420 x( + 1 + ) = 0420
GXFz HiE $150x22° 1/2 | {& 5 0410 0410 x( 3 + + 2 ) = 2050
mZ
GXFz HiE $150x22° 1/2 | {A 1] 0.140 0140 x( 1 + + ) = 0.140
GXFz HiE ¢$150%x5° 5/8 LE] 1] 0.370 0370 x( 1 + + ) = 0370
GXT 7.5K-Fz 2 1 0530 0530 x( 1 + + ) = 0530 ®k#ET()
REESN IV HTEE G150% 75 & 1 0.530 0530 x( 1 + + ) = 0530 Z&H
GXfy f#xdm ¢ 150 1& 2| 0.240 0.240 % ( + 1 + 1 ) = 0480
GX; MZEE ¢ 150 & 2 0.020 0020 x( 2 + + ) = 0.040
GXTs Z#EYIM-METH ¢ 150 = 1| 0550 0550 x( + + 1 ) = 0550
GXTs TZYIN -5 ¢ 150 =® 0.220 0220 % ( + + ) =
GXF 34+ ¢ 150 & 6/ 0.039 0039 x( 1 + 4 + 1 ) = 0234
GXT4 9584V AEIE 1=
P—Link ¢ 150 1& 1 0.233 0233 x( 1 + + ) = 0233
GXTH 934V B 1=y SUS304BN-TLABRE T BER()  EBEEQ  ARER PP
G—Link ¢ 150 4 9 5 + 1 + 3 - = 9
SUS304BN - 1" Ll - #HdR apgen G-Link
GXF; ERERBEESHS ¢ 150 #H 13 2 - 9 = 13
SUS304BN - 1" Ll - #HdR apgen G-Link
GXFz ERERESA M ¢ 100 i 1 1 - = 1
BEERMIY HTEE BER() EBERE EREEEQSE M
CHXRIRERE) $150% ¢ 75 T (1), 0.530 0530 x( 1 + + ) = 0530 &kigTIH L
¢ 25-2% BER() EEEQ  ARER
ERESRMNSETRAF NHOEHBRHE-T5K | & 1 1 + + = 1
¢ 75-H150-7.5K-fiz =K 2
N-LEEIESR FCD  ASTERA-FrTR 1 1+ + = 1
75K -z 2
IVVEE ¢ 75 % 150 1& 1 1 + + = 1
wesA BER()  EBEEQ  ARER
IV RS E ¢75 75K #H 1 1 + + = 1
EEER = 189.637




DIP-GX(P) ¢ 150mmic kK EfRER T HEBFES

TU)3F: P 150mm 12  ZESIF: @ 25mm 1E HMNIE: d Tomm1E

ek £ 41:0.70m~1.30m NO,
E 4 R A
TFE - BT % By % & m Z
AN ATyb BER() EEEQ  ARER
7730V 0 Ak 75 " 1 1 + + = 1 TR
¢ 75-GFfeh Ay b
770V FH ¢ 75 SUS304BN-7.5K  #H 2 2 + + = 2 TR
A-TR B RH EER
FYIFLYRY-7" ¢ 1504 m | 2503 189637 x {60 x (1 + 01) =+ 50 = 250.321
100m Y
HET-7 ¢ 150 m 158.6 189.637 X 836 -+ 100 = 158.537
ERERE  2EH  ERL EAE  TEH
BEHART-7 W=50 m | 1880 189.637 — 0.550 — 0.000 — 0.530 — 0.530 = 188.027
TEEE 2EH ARt EAE  TEH
HEAZE b W=150 2{& m 187.8 189.408 — 0550 — 0.000 — 0530 — 0.530 = 187.798
¢ 250 H=0.80
T A%E CH1E+Y'R #® 1 1 = 1
T A ¢ 250
LY Uik'yh A SHEH H=100 1& 1 1 = 1
ToHFA ¢ 250
LY Uik'yha L T# H=300 1& 1 1 = 1
T A ¢ 250
LY Uik'yh A JEEB (M) H=40 {&A 1 1 = 1
¢ 500 H=0.80
ERFABKE AR3E " 1 1 = 1
EL5FH ¢ 500
LY Uik'yh A A H=50 1& 1 1 = 1
ELFH ¢ 500
LY Uik'yh A L# H=200 1& 1 1 = 1
EL5FH ¢ 500
LY Uik'yha T# H=300 1& 1 1 = 1
ELFH ¢ 500
LY Uik'yh A JEEB (M) H=40 {&A 1 1 = 1




DIP-GX(P) ¢ 150mmic kK EfRER T HEBFES

U5 ¢ 150mm 1&  ZZRFF: ¢25mm 1 HAIE: ¢ T5mmi1E

&M £ 4Y:0.70m~1.30m NO. 1
E 4 R A
TFE - BT % By % & m Z
% [EfT]
it it
S8R ROARM T W 9150 m 189.1) 189.637 — 0550 — = 189.087
BEEES EE RYE
GXFz #F T ¢ 150 BT 38 33 + 5 = 38
EREES EREEANA
GXFz #F T ¢ 150 [E:130 13 13 = 13
EREES ERERANA
GX #F T ¢ 100 T 1 1 = 1
B EP-LinkiEa P-Link
GX #F T ¢ 150 T 1 1 = 1
Bl EG-LinkiES G-Link
GXFz #F T ¢ 150 &R 9, 9 = 9
OEHE
HHSEUMT ¢ 150 m} 9 9 = 9
SiEit it
HTUIFHREL ¢ 150 = 1 1 + = 1
ERAFRET $25 = 1 1 ERFE - WER = 1
IV MFT 75 75K =] 11 mEs - FEE - FETE = 1
wHme R %8
IV MFT ¢75 7.5K m] 1 1 = 1
EREG-LnkiES BEERE
GXR#rFERSI LT ¢ 150 m] 20 2 = 2
ERERS BEERE
GX M FERSALT ¢ 150 O =
EREG-LnkiES BEERE
GXR#FERSILT ¢ 200 m] 1 1 = 1
B E
BIER EYIBT T ¢ 150 m] 4 2 + 2 = 4
HHEXE BEERE 2B EE RS
B ERERYRAA ¢ 150 m 31 1 x 2110 4+ 1 X 1.000 = 3.110
HET-7
FYIFLVAY-7THET ¢ 150 m 189.6 = 189.637
BHART-7 LT W=50 m 188.0 = 188.027
B B W=150 2% m 187.8 = 187.798
BAKHERT BISREEG m 189.6| 189.637 = 189.637
BREfE S
h)-FERYIEL m® 1 120 x 055 x 175 = 116
¢ 150
BRI R ERE BRET H=0.70A AT 1 1 (3L = x 1+Jy4°H50 X 1+ FH150 X 1+EEH40 X 1) = 1 BESR M ER A
@ 250 H=0.80
U FASRSEAT CR1E+y 'K EAT 1 1 = 1
ToHFA ¢ 250
LY Uk )BT SHEH H=100 1& 1 1 = 1
ToHFA ¢ 250
LY Uk )BT L& H=300 1& 1 1 = 1
ToHFA ¢ 250
LY Uk )BT B (Mfiz) H=40 | {& 1 1 = 1
@ 500 H=0.80
ERAABERGT Af3E & AT 1 1 = 1
ELFH ¢ 500
LY Uk )BT FAEH: H=50 1& 1 1 = 1
ELFH ¢ 500
LY Uk )BT £ H=200 & 1 1 = 1
ELFH ¢ 500
LY Uk AR T T# H=300 1& 1 1 = 1
ELFH ¢ 500
LY Uk )BT B (Mfiz) H=40 | {& 1 1 = 1




DIP-GX(P) ¢ 150mmic kK EfRER T HEBFES

U5 ¢ 150mm 1&  ZZRFF: ¢25mm 1 HAIE: ¢ T5mmi1E

EE M T #7Y:0.70m~1.30m NO., 1
E 4 R A
TFE - BT % By % & m Z
[£T]
150
HEEIETD-1 EEEE(G-5-10-25)| m 62.7 62.7 = 627
150
HEEHETD-2 EEEE(G-5-10-25)| m 46 46 = 46
¢ 150
Al T@-1 EE$E(5-10-10) | m 122 06 + 116 = 122
¢ 150 BRES 5 5 SR 50
EE L T@-1 E 8 358 (5-5-10-25)] m 110.5 710 + 395 XEIBIRBELTITIHE = 1105 | RAm#E




Bl /K& DIP-GX(P) ¢ 150 LI EFRE gefErtha B hOVESHE B = 0.68m 2OV = 0.7Tm

Bou o8 ) )
178 &t 53 LT
HE K E S|FEE BR OE &S ER | E SIBE BR OE I|1ES BR OE X
= 1 GX-G 3.167 3167 | 1.833] 1
3.17 7% % 5% % 5%
o= 2 GX-G| 2.197| 1 GX-G 2.570 4767 0233 2
2.20 % 7% % 7% 2.57
= 3 GX-G | 0.858] 2 GX-G 2.234 3.092 | 1.908]| 2
0.86 5% 7% % 7% 2.23
o= 4 GX-G | 2.827| 4  GX-G  1.000 3.827 | 1173 2
2.83 7% 7% 7% 7% 1.00
= 5 CX-G 1.800| 3 GX-G| 1.167 2967 | 2.033| 2
1.80 5% 7% % 7% 1.17

B DIP-GX(P) ¢ 150(STEE) L = 5,000 5 & 17.820( 7.180| 9




%6

mkxT eSSkt ) OB &
I N e e e R | I RO o v 2 e B
+T @O-2 +T @1
BE R BFat il
IP.107 — 0.80 - — | ¢ 15045 - 0.80 — — EESEIES
2.879 0.80 0.80 2.303 20.010 0.80 0.80 16.008
0.379 0.96 0.88 0.334 15.430 0.80 0.80 12.344
1.310 0.96 0.96 1.258 27.100 0.80 0.80 21.680
No.72+10.633 5.163 0.80 0.80 4.130
No.72+11.84 1.207 1.30 1.05 1.267
0.440 1.30 1.30 0.572
No.72+12.70 0.420 1.30 1.30 0.546
No.72+13.907 1.207 0.80 1.05 1.267
38.973 0.80 0.80 31.178
No.74+13.45 0.570 0.80 0.80 0.456
& i 4.568 3.895 & i 110.520 89.448
TR = 4.568 m TR = 110.520 m
FHEY = 3.895 + 4.568 = 0.85 m FH Y =  89.448 + 110.520 = 0.81 m




T I ¥ R & i %
No. 1 NO. 1 TID-1 0.2 TI®D-2 NO. 3 TI@-1 NO. 4 TI@-1 NO. 5 NO. 6 NO. 7 NO. 8
150mm DIP-GX B K& 62.7 “EE L 4.6 “EE L 12.2 “EE L 110. 5 “EE L “EE L “EE L “EE L “EE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 125. 40 2.00 9.20 1.00 12.20 2.00 221.00 ( 367.80 )| ( 370 )
SEUIMT t=15cmA T m
AsEiZEhR 0. 60 37.62 0.60 2.76 0. 60 7.32 1.40 154.70 (" 202.40)|( 202 )
SRR T [t=10cmA T m2
BHO. 28m3 0.49 30.72 0.55 2.53 0.49 5.98 1.23 135.92 ( 175.15)|( 180 )
AR R T MEL m3
BHO. 28m3 0.20 12.54 0.20 0.92 0.20 2.44 0.50 55.25 ( T1.15)|( 70 )
HERT BER m3
BHO. 28m3 0.06 3.76 0.12 0.55 0.15 1.83 0.22 24. 31 (30.45)( 30)
HHIERT HESL m3
(RC-30) 0. 60 7.32 ( 7.32)]( 1)
TRERET t=10cm m2
(RC-40) 0. 60 37.62 0. 60 2.76 1.40 154.70 (195.08 )| ( 195 )
TREERET t=25cm m2
(RM-30) 0. 60 7.32 ( 7.32)]( 1)
LRERET t=12cm m2
(RM-30) 0.60 37.62 0.60 2.76 1.40 154.70 (195.08 )| ( 195 )
LRERET t=15cm m2
BAZTHLAs13mm 0. 60 7.32 ( 7.32)]( 1)
B R 18 16 t=3cm m2
BAZTHLAs13mm 0.60 37.62 0.60 2.76 1.40 154.70 (195.08 )| ( 195 )
B R 18 16 t=5cm m2
BitunT 0.42 26.33 0.42 1.93 0.32 3.90 0.99 109. 40 BEFRA [ 141.56 )| ( 140 )
(£8) 4tDT m3, -38. 87 102. 69 100
BitunT 0. 06 3.76 0. 06 0.28 0.03 0.37 0.14 15. 47 (19.88)( 20)
(AS) 4tDT m3,
2AE 0.14 8.78 0.14 0.64 0.07 0.85 0.33 36.47 ( 46.74)|( 46.7)
ASH% t
EEEE 0. 60 37.62 0. 60 2.76 1.40 154.70 195.1
HREREIR (5-5-10-25) m2,
EESE 0. 60 7.32 1.3
HREREIR (5-10-10) m2,




+ T iR £
No, 1
W5 = (D-1 DIPg 150 L= 62.7 m
Brias B = [ FE (5-5-10-25) H= 0.75 m
sERE = 0170 X 0170 X x / 4 = 0.023
2R = X /S 4 =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.92 — 0.10 )= m3 0.49
HHEE T BHO.28m3
LN AR 1.00 X 0.60 X 0.37 — 0.023 = m3 0.20
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.10 = m3 0.06
TSI T (RC-40)
t=25cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=15cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=bcm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.49 —( 0.06 +~ 0.90 )= m3 0.42
FE T 4DT
TGS TR 1.00 X 0.60 X 0.10 = m3 0.06
TAE
TR 7/ 0.06 X 235 = ¢ 0.14




T I #% E & & EBE
No,2
WA = (D-2 DIPg 150 L= 46 m
Brias B = [ FE (5-5-10-25) H= 0.85 m (¥#)
sERE = 0170 X 0170 X x / 4 = 0.023
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X ( 1.02 — 0.10 ) m3 0.55
HHEE T BHO.28m3
LN AR 1.00 X 0.60 X 0.37 — 0.023 m3 0.20
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.20 = m3 0.12
TSI T (RC-40)
t=25cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=15cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=bcm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 055 —( 0.12 =+ 0.90 )= m3 0.42
FE T 4DT
TGS TR 1.00 X 0.60 X 0.10 = m3 0.06
TAE
TR 7/ 0.06 X 235 = ¢ 0.14




+ I # it B =
No,3
Wrigi#sS = (@-1 DIPg150 L= 12.2 m
Brigi B = [HEAE (5-10-10) H= 0.70 m
gEREE = 0170 X 0170 X =z / = 0.023
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 1 = m 1.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.87 — 0.05 )= m3 0.49
HHEE T BHO.28m3
LN AR 1.00 X 0.60 X 0.37 — 0.023 = m3 0.20
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.25 = m3 0.15
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEAHG T 4DT P+ A+
FBUAL | 0.49 —( 0.15 =+ 0.90 )= m3 0.32
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TR 7/ 0.03 X 220 = ¢ 0.07




T I #% E & & EBE
No,4
WS =  @-1 DIPg 150 L= 110.5 m [EREN5aEmE
Brias B = [ FE (5-5-10-25) H= 0.81 m (F%)
sERE = 0170 X 0170 X x / 4 = 0.023
EHE = X X /S 4 =
Im2%47
% EA H | & & =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 140 = m2 1.40
1 BHO.28m3
Wb A FEE £ 1.00 X 1.40 X ( 0.98 — 0.10 )= m3 1.23
I T BHO.28m3
K NFRED AR 1.00 X 1.40 X 0.37 — 0.023 = m3 0.50
I T BHO.28m3
LG TN A 1.00 X 1.40 X 0.16 = m3 0.22
TSI T (RC-40)
t=25cm 1.00 X 1.40 = m2 1.40
/BT (RM-30)
t=15cm 1.00 X 1.40 = m2 1.40
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 1.40 = m2 1.40
LG T 4DT wmElE WAL
FEAA 1+ 1.23 —( 022 =+ 0.90 )= m3 0.99
FELH T 4tDT
FEAB TAT7 MR 1.00 X 1.40 X 0.10 = m3 0.14
TR
TAT 7/ 0.14 X 235 = ¢ 0.33




FOKE  EHEAEIRL BEEit#E  No.6-1
& Al L1l Bk CRE v BAfr| i At R
A A 1A A [E3E 438 (5-10-10) 32.2  TIEHIE (5-10-10) 27.2
[ 3 (5-5-10-25)  1105. 4 ERHERE (5-10-15) AsEFF 1164.8 m2
[ESEN EhLERR AsEHEERR + t=15emBA T [E5# #4538 (5-10-10) 2.3 TiEHLGHE (5-10-10) 7.4
[E3E #H (5-5-10-25)  289.5 [EykEEE (5-10-15) &l 299.2 m m 299. 2 300
SRR (R - ) |WR K (R FH THEFHR RAET #ELy 7.3 ol
(5-10-10) FaKAE (R fr TAERNR (AT RELY + +
IS Rk R TARRHR EHIE T RE XY 0.7 nf &ak 8.0 m3
AsERERRA (%S - [F5E ) |BoKAE (R el P THEIE AT £ELy 19.1nd  + 14.6 nf + 100.4 i = 310.1 nf
(5-5-10-25) FaKAE (R R TARRHR AT RE XY 7.0 nof + + = 7.0nf
IRRAE Rk R TARRHR REHIE T RE XY 40.7 nf AFt 357.8 m3
AsHIAERRR R (RS - i) (Mo KA (R A FH THEFHR RAET #ELy 6.7 ol
(5-10-10) FakAE (R R TARRHR AT RE XY 1.0 nf
IRRAE Rk fHF TR (T kv 181 of &ab 25.8 m3
AsEREHRG R (R4S - BVl |BOKAE (R i TARRHR i3 L RE XY
(5-10-15) FaKkAE (R fr TAERNR (AL RELY
IS Rk fr TAERNR (AL RELY a7
AsTEERRAEAR: (R8) | EEAE (5-10-10) WEEAEREA  32.2 - {REilEmAY 8.0 = 242 nof
%58 838 (5-5-10-25) SHEEAM AR 1105.4 - {RAH%EHAE 357.8 = 747.6
i AIE (5-10-10) WEEAERER 272 - {xEilEmAY 26.8 = L4 o
g e IE # (5-10-15) Sl B A - ARCh 2 R = f
I ASHESENT - =10emBA T | (REBRER Tag o, paen DR CRERRE w | soL6 392
b2 L %’f%’ﬁ " %’f’;fiﬁ " ﬁf‘fﬁ " Pt — 1739 m2 773.2 773




BOKE  BEEAREIRT BEHEFTER  No. 6-2
Fii A B Hoo K HAL[ BE 7t EE
WEMET [ (Asi) [EL3H 438 (5-10-10) T
[EE HE (5-5-10-25) X 0.05 + 75%% X 0.10 = 92.7 m3
TIEHE (5-10-10) X 0.03 4+ 1%%K X 0.06 = 0.8 m3
B 5 (5-10-15) Y ooos o R e .
n3 95.0 95
AsTRZANE ) X 2.20 t/m3 =
+ 0.8 ) X 2.35 t/m3 = 219.7 L 223.0
T sl Bl (7E &) T SV o s 18.6 20
b icach szl T AR m3 18.6 20
R AR m3 18.6 20
BPEAEIET | REEEIE HFUE T - Al e A R 105.4 + 927.2 + m2 1132.6 1,130
G T - Al b A [ R 399 m2 32.2 32
g () ?fﬂg@ﬁg{ (20) - t=bem BEAE 1B RS 1105. 4 m2 | 1105.4 1,110
®fF (i) ;ﬁfﬂ’z@ﬁ&k (20) - t=5em B A 1 A 1105.4 + m2 | 1132.6 1,130
#E (3H) PRI 0 - oen A 1 i 32.2 e | 822 32
X iR L AR X E AR FEHE - A - W=15emiiE 254. 0 m 254. 0 254
VS X BHR - A - W=15emifi i 13.0 m 13.0 13
AR X AR F2HE - W - W=15cmiiE 200. 0 m 200. 0 200
s b X AR FHR - A - W=45emifL B 8.1 m 8.1 8
e X i (7 ) SRF - S - GE B W=15emi B 7.0 m 7.0 7




J

]illl_l.
i

=+

sreAmn B A/OE @asw
ERTEAIE I TR ERTEAIE N AsUIHT
H s BE M DA I - JIRS £ YW ik &
[As t=5cm (5-10-10)] (BEEEREY)
2.30 1 2.30
14. 00 32. 20
AsEli%E1E IH 14. 00 32. 20 2.30




Vivaw

=+

= \ Vi = Y= N N
CIN 1 F* sEEAEIH G OFH E (EusEy
ERTEAIE I TR ERTEAIE N AsUIHT
H s OB W ¥k M JIRS £ YW ik &
[As t=10cm (5-5-10-25)] (BEEEREY)
37. 30 104. 50 38. 70 1 38. 70
221. 70 (O ) 951.30 | 228.70 1 228. 70
6. 00 1 6. 00
9. 50 G B BT 5 49. 60 6. 30 1 6. 30
9. 80 1 9. 80
AsliZEE IHE 268. 50 1105. 40 289. 50
X )R

FEHR (19 -W=15cm)
100. 0+133. 0+21. 0 = 254, 0m

FE#R (9 +W=15cm)
13.0 = 13.0m

FEHR (35 - W=15cm)
200. 0 = 200. 0m

S (11 - W=45cm)
¥7718.1 = 8. 1m

ZH1 (- W=15cmifat)

EE 7. 0X 1EPT = 7.0m




J

]illl_l.
i

=+

sreAammE B OABOE hasn
ERTEAIE I TR ERTEAIE N AsUIHT

H s BE M DA I - JIRS £ YW ik &
[As t=5cm (5-10-10)] (BEEEREY)

5. 60 1 5. 60
11. 00 27. 20

1.80 1 1.80

AsEli%E1E IH 11. 00 27. 20 7. 40




HNEREL WESEE
B0 HRREER) IN=1)
k& T #HY:0.75m NO. 3
& 4 R
I £ _# BRTE Bl y & sHE B _F
GXF 7.5K-fz =2 ERER(1)
##  ERBERWIYATFE 150X ¢75 {@ 1 0530 0530 x 0530 sExie
SUS304BN- 1" L - 1R 8k BEpEsn
GXiy EREREGEHS ¢ 150 # 1 1 1
¢ 75- NS E A ERHE(1)
REIEERRE AR BO-75K ® 1 1 1
¢ 75-H150+7.5K- iz = 2
N-NEEESR FCD | RAERR LN - | & 1 1 1
wiesHA 7.5K
1V HRER ®75 JEd 1 1 1
FEARD Ayb
I5UYH A9h P75 ® 1 1 1
@ 75-GFEh Aryb
170 REM SUS304BN-7.5K | #f 1 1 1
¢ 500 H=0.75
HXERASE Af3E " 1 1 1
AR ¢ 500
LY UiR'y9R AR H=50 & 1 1 1
HAERA ¢ 500
R VLS E# H=200 & 1 1 1
AR ¢ 500
LRI T#B H=300 Ed 1 1 1
AR ¢ 500
LY UiR'yyR EL (M) H=40 (& 1 1 1




BNERETL HES5HES
B0 HRREER) IN=1)
k& T #HY:0.75m NO, 3
& 4 R
IiE £ # BRTZE g % & B _Z
FE (EHT)
EnREES EREESHM
GXfs ##F T ¢ 150 (&7 1 1
BpO
HARERET 75 = 1 1 HAKRR - iR
HEeE
ISUCHET ®75 75K [m] 11 WER - FEE - FHTE
¢ 500 H=0.75
HXERASEREMT M35 (&7 11
HXkIEHA ¢ 500
LY Uk IR BT A H=50 & 1 1
HXkIEHA ¢ 500
LY Uk yIAB T L& H=200 e 1 1
HXkIEHA ¢ 500
LY Uk IR BT T& H=300 & 1 1
HXkIEHA ¢ 500
LY Uk yIAB T EEB(AR) H=40 | & 1 1




& 0% PEP ¢ 20mm X 1#FT_PEP ¢ 25mm X 17T

fKEMRLI (RES50mmHPPE) HE5HEE

EHLI® FEEEG-10-10) | m

FER M T #8Y :0.75m NO, 5
g 4 R
TiE £ K TZE S % & H %
H#
FYIFLUE R (Haka) A847° 1
Y5 K iE ®50% ¢ 20 1 1 1
FYIFLUE R (Haka) B1447° 1
YL {E 5 K iE @50x% 25 = 11 B2447° 1
FYIFLOE R (Haka) c447°
Y LE 5 K iE ®50% ¢ 40
¢ 20 ¢ 25
LEKEER )R FCD ZRm# & 2] 1 + 1 2
@ 250 ¢ 40
LRSS A 15 (FA5%) [
oA ¢ 250 @40
LWL L& H=300 &
oA ¢ 250 @40
Ly vik'yh R EE (M) H=40 | {&
FE ]
"YIFLVE R
RKEETAATL $50x% ¢20 G331 1
FYIFLVE A
RKBETAAT ¢ 50% ¢25 G331 1
"YIFLVE R
RKEETAATL ¢ 50 % ¢ 40 331
¢ 250
T FAMEREAT MA#15 (FAE%) | @AR
to#H ¢ 250
VY uR AR T L& H=300 &
to#H ¢ 250
VY uR AR T EE(F#2) H=40 | {&
MI A847° HREETY
K EERT PEP ¢ 20 (5178 1]L=3.5m x 1E5FF L=3.5m
MI B1447° HREETY
EKEERT PEP ¢ 25 (5178 1]L=3.5m x 1E5FF L=3.5m
MIH cH7
MKEBERT PEP ¢ 40 (5178
(£T]
¢ 20-25
I TD-1 E & EE(5-5-10-25)| m 6.0 6.0 6.0
¢ 40
EElETD-2 EEE#E(5-5-10-25)| m 1.0 1.0 1.0
¢ 20-25




T I ¥ R & i %
No.5 0. 1 TID-1 0.2 TI®D-2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
K E (K E B 50mmHPPE) 758 6.0 =EEL 1.0 =EEL SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 12.00 2.00 2.00 14.00 )| ( 14)
SEUIMT t=15cmA T m
AsEiZEhR 0.50 3.00 0.50 0.50 3.50 ) ( 4)
SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.34 2.04 0.35 0.35 2.39)|( 2)
AR R T MEL m3
BHO. 13m3 0.1 0. 66 0.12 0.12 0.78)|( 0.8)
HERT BER m3
BHO. 13m3 0.05 0.30 0.05 0.05 0.35)|( 0.4)
HHIERT HESL m3
(RC-30) )¢ )
TRERET t=10cm m2
(RC-40) 0.50 3.00 0.50 0.50 3.50 ) ( 4)
TREERET t=25cm m2
(RM-30) )¢ )
LRERET t=12cm m2
(RM-30) 0.50 3.00 0.50 0.50 3.50 ) ( 4)
LRERET t=15cm m2
BAZTHLAs13mm 0.50 3.00 0.50 0.50 3.50 ) ( 4)
B R 18 16 t=5cm m2
BitunT 0.28 1.68 0.29 0.29 1.97 ) ( 2)
(£8) 2tDT m3
BitunT 0.05 0.30 0.05 0.05 0.35)|( 0.4)
(AS) 2tDT m3,
ZAE 0.12 0.72 0.12 0.12 0.84)|( 0.8)
ASH% t
EEEE 0.50 3.00 0.50 0.50 3.5
HREREIR (5-5-10-25) m2,
B EEAs
HREREIR (5-10-10) m2,




+ T it B =
No, 1
Wi s = (-1 PEP$20:25 L= 60 m
Brias B = [ FE (5-5-10-25) H= 0.75 m
EREE = 0030 X 0030 X x / 4 = 0.001
EHE = X /S 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
AT BHO. 13m3
- A - FEE A 1.00 X 0.50 X( 0.78 — 0.10 )= m3 0.34
T BHO. 13m3
K NFRED AR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
T BHO. 13m3
LG TN A 1.00 X 050 X 0.10 = m3 0.05
TSI T (RC-40)
t=25cm 1.00 X 0.50 = m2 0.50
/BT (RM-30)
t=15cm 1.00 X 0.50 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 0.50 = m2 0.50
FEA ST 2tDT PEHE] 1 A+
FEAS 177 0.34 —( 0.05 = 0.90 )= m3 0.28
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 050 X 0.10 = m3 0.05
TAE
TAT7 /iR 0.05 X 235 = t 0.12
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No,2
g S = (D-2 PEP$40 L= 10 m
Bri#i = (5l #al (5-5-10-25) H= 0.75 m
EHE = 0050 X 0050 X x / 4 = 0.002
EHE = X X z /J 4 =
Im2%7
% EA H | & & i =
BRI T
AsBTRR t=15cmbL T 1.00 X 2 = m 2.00
e N
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
et 1. BHO. 13m3
- A - FEE A 1.00 X 0.50 X( 0.80 — 0.10 )= m3 0.35
HEECT BHO. 13m3
LRI AR 1.00 X 050 X 0.25 — 0.002 = m3 0.12
HEECT BHO. 13m3
LN A 1.00 X 050 X 0.10 = m3 0.05
AT (RC-40)
t=25cm 1.00 X 050 = m2 0.50
RS T (RM-30)
t=15cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 050 = m2 0.50
FELH T 2tDT P+ L
FFAA 14 0.35 —( 0.05 = 0.90 )= m3 0.29
FELH T 2tDT
FFAB TAT7 PR 1.00 X 050 X 0.10 = m3 0.05
FAE
TR b 0.0 X 235 = ¢ 0.12




foKERRL (XE S 7S5SMmMHPPE) HE5HES

R EH Y :0.60m~0.75m NO. 5
& 4 R
IiE £ # BRTZE g % & B _Z
H#
FVIFLUE F (BEkE) A347 1
YL AT KEE @75% 20 p- 1 1 1
RUIFLYE F (B E) B1447°
YL AT KEE b75% p25 B2447°
FVIFLUE F (BEkE) c447 1
YL AT KEE @75 % @40 p- 1 1 1
¢ 20 @25
LEKAEFR YR FCD ZRHE & 11 + 1
¢ 250 ¢ 40
T A%E AR5 (FA%%) ®
to#HA ¢ 250 40
LY Uiy L TFE H=300 &
to#HA ¢ 250 ¢ 40
LY Uiy JEER () H=40 @ {&
FE (EHT)
FYIFLVER
DIKBRETAAT @75% 20 (&7 1
FYIFLUE R
DIKBRETAAT Pd75% P25 (&7
FYIFLVER
DIKBRETAAT @75% P40 (&7 1
¢ 250
TOFRABEREMGT AM1E (FAE%) &R
to#HA ¢ 250
LY Uk IR BT L TE H=300
to#HA ¢ 250
LY Uk IR BT EE(H#) H=40 1@
MIf A7 ARERTY
HKEERT PEP ¢ 20 (&7 1) L=25m x 1&f L=2.5m
MIH B1447°
FRKEERT PEP ¢ 25 (&7
MIH NELEE cH47° ARERTY
FRKEERT PEP ¢ 40 (&7 1/ L=1.0m x 18R L=1.0m
(1]
$20-25
EEI L TD-1 EEE#E(5-5-10-25) m
®40
EHILTD-2 EEE#E(5-5-10-25) m 1.0 1.0 1.0
$20-25
EHILTO AEEEG-10-10) | m 2.0 2.0 2.0




T I ¥ R & i %
No.5 NO. 1 0.2 TI®D-2 NO. 3 TI®Q NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
K E (K E B 75mmHPPE) 757 SEE L 1.0 =EEL 20 =EEL SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 2.00 2.00 4.00 6.00 ) ( 6)
SEUIMT t=15cmA T m
AsEiZEhR 0.50 0.50 0.50 1.00 1.50 ) ( 2)
SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.35 0.35 0.29 0.58 0.93)|( 0.9)
AR R T MEL m3
BHO. 13m3 0.12 0.12 0.1 0.22 0.34)|( 0.3)
HERT BER m3
BHO. 13m3 0.05 0.05 0.08 0.16 0.21)|( 0.2)
HHIERT HESL m3
(RC-30) 0.50 1.00 1.00 ) ( 1)
TRERET t=10cm m2
(RC-40) 0.50 0.50 0.50 )| ( 0.5)
TREERET t=25cm m2
(RM-30) 0.50 1.00 1.00 ) ( 1)
LRERET t=12cm m2
(RM-30) 0.50 0.50 0.50 ) ( 0.5)
LRERET t=15cm m2
BAZTHLAs13mm 0.50 1.00 1.00 ) ( 1)
B R 18 16 t=3cm m2
BAZTHLAs13mm 0.50 0.50 0.50 ) ( 0.5)
B R 18 16 t=5cm m2
BitunT 0.29 0.29 0.20 0.40 0.69 )| ( 0.7)
(£8) 2tDT m3
BitunT 0.05 0.05 0.03 0.06 0.11)|( 0.1)
(AS) 2tDT m3,
ZAE 0.12 0.12 0.07 0.14 0.26 )| ( 0.3)
ASH% t
EEEE 0.50 0.50 0.5
HREREIR (5-5-10-25) m2,
TEEEAs 0.50 1.00 1.0
HREREIR (5-10-10) m2,







H
H
32
il
o
o
i

No,2
g S = (D-2 PEP$40 L= 10 m
Bri#i = (5l #al (5-5-10-25) H= 0.75 m
EHE = 0050 X 0050 X x / 4 = 0.002
EHE = X X z /J 4 =
Im2%7
% EA H | & & i =
BRI T
AsBTRR t=15cmbL T 1.00 X 2 = m 2.00
e N
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
et 1. BHO. 13m3
- A - FEE A 1.00 X 0.50 X( 0.80 — 0.10 )= m3 0.35
HEECT BHO. 13m3
LRI AR 1.00 X 050 X 0.25 — 0.002 = m3 0.12
HEECT BHO. 13m3
LN A 1.00 X 050 X 0.10 = m3 0.05
AT (RC-40)
t=25cm 1.00 X 050 = m2 0.50
RS T (RM-30)
t=15cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 050 = m2 0.50
FELH T 2tDT P+ L
FFAA 14 0.35 —( 0.05 = 0.90 )= m3 0.29
FELH T 2tDT
FFAB TAT7 PR 1.00 X 050 X 0.10 = m3 0.05
FAE
TR b 0.0 X 235 = ¢ 0.12




+ I # it B =
No,3
a5 = @ PEP$20:25 L= 20 m
Brigis B = B #E (5-10-10) H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
1 BHO.13m3
Wb A FEE £ 1.000 X 050 X( 0.63 — 0.05 )= m3 0.29
i T BHO. 13m3
K NFRED AR 1.000 X 0.50 X 0.23 — 0.001 = m3 0.11
i T BHO. 13m3
LG TN A 1.00 X 050 X 0.15 = m3 0.08
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
FEALHG T 20DT PEHE] 1 A+
FEAA 1+ 0.29 —( 0.08 = 0.90 )= m3 0.20
FELH T 2tDT
FEAB TAT7 MR 1.00 X 050 X 0.05 = m3 0.03
TAE
TAZ7 b 0.03 X 235 = ¢ 0.07




&8 0% PEP ¢ 25mm X 28FT  PEP ¢ 40mm X 117

fKEMRLI (RE @ 150mmDIP) #E8B5HEE

ek £48Y:0.75m NO, 4
g 4 R
TiE £ K TZE S % & H %
H#
HExEH B1447° 1
Y5 K iE ¢ 150% ¢ 25 2] 2 B2547° 1 2
HexE R c447° 1
YL {E 5 K iE $ 150 x ¢ 40 1 1 1
FR)=7" ¢ 25 & 2| 2 2
FR)=7" ¢ 40 & 1 1 1
¢ 20 ¢ 25
LBk )R FCD ZRm# & 1 + 1 1
¢ 250 $ 40
T AMKE A#15 (FA5%) [
oA ¢ 250 @ 40
L WYLS L& H=300 &
Tos#H ¢ 250 @ 40
Ly vik'yh R EE (M) H=40 | {&
FE (]
B E R
RKBETAAT ¢ 150X ¢ 25 G331 2
B E R
RKEETAATL ¢ 150X ¢ 40 331 1
ITHEATL $25 (517 2
ITHEATL ¢ 40 (517 1
¢ 250
T ASERAT MA#15 (FhE%) | @AR
T+ A ¢ 250
Ly oy AR T L+ TF#& H=300 &
T+ A ¢ 250
Ly Uy AR T EE(Hf2) H=40 | {&
MId B1447° HREETY
EKEERT PEP ¢ 25 (5178 1]L=3.5m x 1E5FF L=3.5m
MIH MELEES B2447° HREETH
EKEERT PEP ¢ 25 (5178 1/L=1.0m x 1E5FF L=1.0m
MIH MELES CH47° HREETH
EKEERT PEP ¢ 40 (5178 1/L=1.0m x 1E5FF L=1.0m
(£T]
¢ 20-25
I TD-1 EEE#E(5-5-10-25)| m 4.0 4.0 4.0
¢ 40
EHETD-2 EE E#(5-5-10-25) | m 1.0 1.0 1.0




L

No. 1
HKEHR
¢ 15055t ¢ 15 & G 5055
£ 5 iR % & & HEHE
ASTRER C_10.00) T 6.00) C 14.00) 30.00 )] ( 30)
HETMT t=15cmA T m
AsEiZhR ( 250) ( 1.50) ( 350) 7.50)] ¢ 8)
SHERRFEFA T [t=10cmA T m2
BHO. 13m3 17 C09) C 2.39) 503 ¢ )
AR ERIE T ME St m3
BHO. 133  0.56)  0.34) C 078) 7687 )
HIERT BER m3
BHO. 13m3 ( 0.25) ( 0.21) ( 0.35) 0.81)|( 0.8)
HIERT HESL m3
(RC-30) ( ) ( 1.00 ) ( ) 1.00 )| ( 1)
TRERET t=10cm m2
(RC-40) ( 2.50) ( 0.50) ( 3.50) 6.50 )| ( D)
TREERET t=25cm m2
(RM-30) ( ) ( 1.00) ( ) 1.00 )| ( 1)
LRERET t=12cm m2
(RM-30) ( 2.50) ( 0.50) ( 3.50) 6.50 )| ( D)
LRERET t=15cm m2
BEZHASI3mn ( ) ( 1.00) ( ) 1.00)]( 1)
B R 18 16 t=3cm m2
BAEZH As13mm ( 2.50) ( 0.50) ( 3.50) 6.50 ) ( 7)
B R 18 16 t=5cm m2
BitunT ( 1.41) ( 0.69) ( 1.97) 4.07)|( 4)
(£8) 2tDT m3
BitunT ( 0.25) ( 0.11) ( 0.35) 0.71)|( 0.7)
(AS) 2tDT m3,
ZAE ( 0.60) ( 0.26) ( 0.84) 170 ¢ 7
AS5% t
EEEE 2.50 0.50 3.50 6.5
HREREIR (5-5-10-25) m2,
TEEEAs 1.00 1.0
HREREIR (5-10-10) m2,




T I ¥ R & i %
No. 4 0. 1 TID-1 0.2 TI®D-2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HIKE (KE B 150mmDIP) 73R 4.0 =EE L 1.0 =EEL SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 8.00 2.00 2.00 10.00 )| ( 10)
SEUIMT t=15cmA T m
AsEiZEhR 0.50 2.00 0.50 0.50 2.50 ) ( 3)
SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.34 1.36 0.35 0.35 1.71)( 2)
AR R T MEL m3
BHO. 13m3 0.1 0.44 0.12 0.12 0.56 )| ( 0.6)
HERT BER m3
BHO. 13m3 0.05 0.20 0.05 0.05 0.25)|( 0.3)
HHIERT HESL m3
(RC-30) )¢ )
TRERET t=10cm m2
(RC-40) 0.50 2.00 0.50 0.50 2.50 ) ( 3)
TREERET t=25cm m2
(RM-30) )¢ )
LRERET t=12cm m2
(RM-30) 0.50 2.00 0.50 0.50 2.50 ) ( 3)
LRERET t=15cm m2
BAZTHLAs13mm 0.50 2.00 0.50 0.50 2.50 ) ( 3)
B R 18 16 t=5cm m2
BitunT 0.28 1.12 0.29 0.29 1.41)( 1)
(£8) 2tDT m3
BitunT 0.05 0.20 0.05 0.05 0.25)|( 0.3)
(AS) 2tDT m3,
ZAE 0.12 0.48 0.12 0.12 0.60 )| ( 0.6)
ASH% t
EEEE 0.50 2.00 0.50 0.50 2.5
HREREIR (5-5-10-25) m2,
B EEAs
HREREIR (5-10-10) m2,




+ T it B =
No, 1
Wi s = (-1 PEP$20:25 L= 40 m
Brias B = [ FE (5-5-10-25) H= 0.75 m
EREE = 0030 X 0030 X x / 4 = 0.001
EHE = X /S 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
AT BHO. 13m3
- A - FEE A 1.00 X 0.50 X( 0.78 — 0.10 )= m3 0.34
T BHO. 13m3
K NFRED AR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
T BHO. 13m3
LG TN A 1.00 X 050 X 0.10 = m3 0.05
TSI T (RC-40)
t=25cm 1.00 X 0.50 = m2 0.50
/BT (RM-30)
t=15cm 1.00 X 0.50 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 0.50 = m2 0.50
FEA ST 2tDT PEHE] 1 A+
FEAS 177 0.34 —( 0.05 = 0.90 )= m3 0.28
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 050 X 0.10 = m3 0.05
TAE
TAT7 /iR 0.05 X 235 = t 0.12
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No,2
g S = (D-2 PEP$40 L= 10 m
Bri#i = (5l #al (5-5-10-25) H= 0.75 m
EHE = 0050 X 0050 X x / 4 = 0.002
EHE = X X z /J 4 =
Im2%7
% EA H | & & i =
BRI T
AsBTRR t=15cmbL T 1.00 X 2 = m 2.00
e N
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
et 1. BHO. 13m3
- A - FEE A 1.00 X 0.50 X( 0.80 — 0.10 )= m3 0.35
HEECT BHO. 13m3
LRI AR 1.00 X 050 X 0.25 — 0.002 = m3 0.12
HEECT BHO. 13m3
LN A 1.00 X 050 X 0.10 = m3 0.05
AT (RC-40)
t=25cm 1.00 X 050 = m2 0.50
RS T (RM-30)
t=15cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 050 = m2 0.50
FELH T 2tDT P+ L
FFAA 14 0.35 —( 0.05 = 0.90 )= m3 0.29
FELH T 2tDT
FFAB TAT7 PR 1.00 X 050 X 0.10 = m3 0.05
FAE
TR b 0.0 X 235 = ¢ 0.12




PREREIT HBHES

DIP¢75:L.=13.0m

ER T #81):0.60m~1.30m NO. 8
g 4 R
TiE £ K TZE S % & H %
B
FE (HET]
BEERET % E ¢ 200 m 80.0 72000 + 8.000 = 80.000
BRERET % E ¢ 250 m 190.0 190.000 = 190.000
BRERELT 85 E ¢ 150 m 194.0 190.000 +  4.000 = 194.000
B ERELT HBEOT5 m 13.0 13.000 = 13.000
BHEREMRT ¢ 200 [m] 27 80000 -~ 3 m/O = 27
BHERERT ¢ 250 [m] 64 190000 = 3 m/0 = 64
BHEREMRT ¢ 150 [m] 65 194000 = 3 m/0 = 65
BHEREHRT @75 [m] 5 13000 = 3 m/O = 5
Bt UAERET BT 4 4 = 4
BEEEROE HHE ] 5
Ah797° BT t 19.6| 19.622
[(£x1]
¢ 200
BELXITD-1 (H 3% B R ED) m 80.0] 720 8.0 = 800
¢ 150
BMELTID-2 (FER B 1B ERED) m 4.0 4.0 = 40
¢ 250+ ¢ 150(3H: %)
BMELTO-1 (B R E 1R ED) m | 113.0] 1130 = 113.0 | BB o150
¢ 250+ ¢ 150(3Hi %)
BMELTQ-2 (FT % B R ED) m 770 770 = 710 |$HBE675
[£8T]
LSP-2% W=250 | wfal +I@-1  +I@-2
BEMXR-TAAT EiRFE2.0m m | 190.0| 113.0 77.0 = 190.0
LSP-2% W=250 | wfal
BEMEREIKRT ZiR£2.0m m 190.0/  190.0 = 190.0
222RE 1B
X REMEBE-HE EEIE=2.0m m | 190.0] 190.0 = 190.0




T I ¥ R & i %
No. 8 NO. 1 HED-1 NO. 2 #WED-2 NO. 3 HE-1 NO. 4 #MEQ2-2 NO. 5 NO. 6 NO. 7 NO. 8
HREMET 80.0 =EEL 40 =EEL [113.0 =EEL 77.0 =EEL SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsFHZERR )¢ )
SEUIMT t=15cmA T m
AsEH%E IR K )
SRR T [t=10cmA T m2
BHO. 28m3 0.26 20. 80 0.28 1.12 0.75 84.75 0.84 64. 68 171.35 ) ( 170 )
AR R T MEL m3
BHO. 28m3 ) ¢ )
HERT BER m3
BHO. 28m3 0.30 24.00 0.30 1.20 0.83 93.79 0.92 70. 84 189.83 ) ( 190 )
HHIERT HESL m3
(RC-30) )¢ )
TRERET t=10cm m2
(RC-40) )¢ )
TREERET t=25cm m2
(RM-30) )¢ )
LRERET t=12cm m2
(RM-30) )¢ )
LRERET t=17cm m2
BEZHAs13mm K )
B R 18 16 t=3cm m2
BitunT -0.07 -5.60 -0.05 -0.20 -0.17 -19. 21 -0.18 -13. 86 -38.87 )| ( -39)
(£8) 41DT m3 KAEZEINSRA
BimsT ) ¢ )
(AS) 4tDT m3,
ZAE )¢ )
ASH% t
EESHE
HREREIR (5-10-10) m2,
EEHEE
HRE{REIR (5-5-10-25) m2,
B EE
HREREIR (5-10-10) m2,




WA = @O-1 DIP$200 L= 80.0 m

A EE =

Frak 512,

24

axX

EEE = 0220 X

0.220 X _x«

/4

= 0.038

R = X

X oz

/4

=111}
—+

"

i

No, 1

Y

&

E

7

# ]

# &

%

AILECIr T
AsBHEER t=15cmll

e N
AsBHEER t=10cmll

mZ2

LHE 1. BHO.28m3
Wi A - FEE A

1.00 X 0.60

X 0.50

— 0.038

m3

0.26

HHECT BHO.28m3
LN AR

m3

HEECT BHO.28m3
LN FEAE A

1.00 X 0.60

X 0.50

m3

0.30

FEHE T (RC-30)
t=10cm

mZ2

LT (RM=30)
t=12cm

mZ2

BEIETIRIE IH (FAE B #7As 1 3mm, A 7))

t=3cm

mZ2

FELH T 4tDT
FHiAS A%

At L

0.26 —( 0.30

+ 0.90 )

m3

-0.07

FELH T 4tDT
FHAZ TAT7 /e

m3

RAE
TA77 /bR




+ T it B =
e No,2
WrgEsE = @O-2 DIP150 L= 4.0 m
gt B = (Bl & )
sERE = 0170 X 0170 X x / 4 = 0.023
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsEHEEIK t=15cmIL T m
BHEERR A T
AsBHEEK t=10cmLl T m2
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X 0.50 — 0.023 m3 0.28
T BHO.28m3
S NFEIED PR m3
T BHO.28m3
LG TN A 1.000 X 0.60 X 0.50 = m3 0.30
AT (RC-30)
t=10cm mZ2
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm mZ2
FEA ST 4DT PEHE] 1 A+
FEAS 177 0.28 —( 0.30 = 0.90 )= m3 -0.05
FELH T 4tDT
FFAS TAT7/A b m3

AR
TRT 7Rk




T T H E i B

WL No,3
WrEEAE = @-1 DIP$250-DIP$ 150 L= 113.0 m

i

Breif # = (B B A)

sEREE = 0270 X 0270 X x / 4 = 0.057

sERE = 0170 X 0170 X x / 4 = 0.023

1m247

& i A Ho &K & =

AIECIr T
AsEHHEIR t=15cmIL T m

e N
AsEiFEIKR t=10cmll m2

ST BHO.28m3
W E 1B 1.00 X 1.40 X 0.59 — 0.057 — 0.023 = m3 0.75

HHECT BHO.28m3
LN AR m3

HEECT BHO.28m3
SNl TS A 1.00 X 1.40 X 059 = m3 0.83

AT (RC-30)
t=10cm m2

LT (RM=30)
t=12cm mZ2

BEIETIRIE IH (FAE B #7As 1 3mm, A 7))

t=3cm m2

A5 L 4tDT wmElE WAL
HAB L 0.75 —( 0.83 +~ 0.90 )= m3 -0.17

FELH T 4tDT
FFAS TAT7/A b m3

TAH
TA77/bfi t




T T # B B B &
WL No,4
WrigE s =  @-2 DIP$250-DIPg150 L= 77.0 m
Wi o = Bk B )
EREE = 0270 X 0270 X x /4 = 0.057
EHEE = 0170 X 0170 X x /4 = 0.023

1m247

& i A Ho &K & =

AILECIr T
AsEHEEIK t=15cmIL T m

e N
AsEiFEIKR t=10cmll m2

ST BHO.28m3
W E 1B 1.00 X 1.40 X 0.66 — 0.057 — 0.023 = m3 0.84

HHECT BHO.28m3
LN AR m3

HEECT BHO.28m3
SNl TS A 1.00 X 1.40 X 0.66 = m3 0.92

AT (RC-30)
t=10cm m2

LT (RM=30)
t=12cm mZ2

BEIETIRIE IH (FAE B #7As 1 3mm, A 7))
t=3cm m2

A5 L 4tDT wmElE WAL
HAB L 0.84 —( 0.92 + 0.90 )= m3 -0.18

FELH T 4tDT
FFAS TAT7/A b m3

AL
TR 7/ t




SUS ¢80. PEP ¢50IREER (W) I. PEP ¢ 20~ ¢ 40(RHKEMR (BB T HEF1ES

EfE- 0% :SUS @ 80mm:L=189.572m(189.197m)+14.756m(14.756m)+1.038m(0.741m)=205.366m(204.694m)

PEP ¢ 50mm:L=70.218m(70.218m)

67K @ 20mm X 2 AT+ @ 25mm X 3EFT+ ) 40mm X 26 flr

ekt - (IREEE) T4 :0.95m~0.60m~0.50m~Fati. (fRid7KE) £4#HY:0.50m~0.30m~ & NO. 9
&g 4 R
IiE g _# BRTZE H % 7 BHR B _Z
H#
{REZSUSE 40m EeZiile| SEER)  SIEERR)
BE ¢ 80 X 39| 4.000 4000 x( 37 + 2 + ) = 156.000
{REXSUSE 2.0m
BE ¢ 80 X 9 2.000 2000 Xx( 8 + 1 + ) = 18.000
{REXSUSE 1.0m
BE ¢ 80 X 8/ 1.000 1.000 x( 7 + 1 + ) = 8.000
{REXSUSE 0.5m
BE ¢ 80 X 9 0.500 0500 x( 8 + 1 + ) = 4500
{REXSUSE 0.3m
BE ¢ 80 X 5 0.300 0300 x( 4 + 1 + ) = 1500
{REXSUSE
BEREE ¢80 X 2| 0.252 0252 x( 1 + 1 + ) = 0504
{REXSUSE 1.0m
IWAE ¢80 ZN 11| 1.000 1000 x( 10 + 1 + ) = 11.000
{REXSUSE 90°
I ¢80 1& 70282 0282 x( 4 + 2 4+ 1 ) = 1974
{REXSUSE 45°
I ¢80 1& 2/ 0.148 0.148  x( + + 2 ) = 0.296
{REXSUSE (2)] 0078 0078 x( 2+ + ) = 0.156
F-2 ¢80 x ¢ 50 @ 2| 0226 0226 x( 2 + + ) = 0452
{REXSUSE (2) 0.088 0088 x( 2 + + ) = 0.176
F-2 $80x ¢80 & 4/ 0.226 0226 x( 3 + 1 + ) = 0.904
REZSUSE
=L ¢80 ® 2 0.269 0.269 x( + 1 + 1 ) = 0538
{REXSUSE
LY a4 ¢ 80X ¢ 50 & 1 0.193 0.193  x( 1 + + ) = 0.193
{REXSUSE
BHEE $80x ¢20 @ 2| 0.202 0202 x( 1 + 1 + ) = 0.404
{REXSUSE
BHEE ¢ 80x ¢ 25 @ 2| 0.202 0202 x( 2 + + ) = 0.404
{RERSUSE 759"
EREE ¢80 & 1 0.160 0.160  x( + 1 + ) = 0.160
{REXSUSE v
EREE ¢80 & 1] 0.203 0203 x( 1 + + ) = 0.203
{REXSUSE 2 x 2T
EREE ¢80 & 1 0016 0016 x( 1 + + ) = 0.016
{REZSUSE 97’
EREE ¢80 & 1/ 0.103 0.103  x( + + 1 ) = 0.103
REZSUSE
ERF EHROR ¢80 75K #H 2 T+ 1 = 2
fREESUSE B
HKAE $80x ¢65 b + _
H%ER 750V BG4
THIKTEE b75% p75 LE] 1 0.247 0.247  x( + 1 + ) = 0247
susazy 75 & 1
RFY7'{¢&-SUS B-N
750V FH ¢ 75 7.5K #H 1 1 + = 1
REER  SUS$80 = 205.730
TERER SUS ¢ 80 189.197 + 0741 + 14756 = 204.694
HE EENES
H# I3V E ¢ 75 RF+7.5K e 1 1 = 1 B
RFY7'{f&-SUS B-N REKTE
750V FH ¢ 75 7.5K #H 1 1 = 1




SUS$80. PEP ¢50IR:EThER (M5 T. PEP ¢ 20~ ¢ 40{R#GKEMR (HE T HBHES

PEP ¢ 50mm:L=70.218m(70.218m)

R#67K : & 20mm X 2T+ ¢ 25mm X 3EFT+ @ 40mm X 2 F

HEREH (RFZE) Y :0.95m~0.60m~050m~FEH . (RFEAKE) £H#HY:0.50m~0.30m~FEH NO, 9
&g 4 R
IiE g _# BRTZE H % 7 BHR B _Z
H#

{RERSUSE 1.0m
IWAE ¢ 50 X 2| 1.000 1000 x( 2+ + 2.000

{RERSUSE 90°
I ¢ 50 1& 1| 0.205 0205 x( 1 + + 0.205

REXSUSE

=L ¢ 50 = 2 0210 0210 x( 2 + + 0.420

{RERSUSE v

EREE ¢ 50 & 1] 0.202 0202 x( 1 + + 0.202

{RERSUSE A

EHEE ¢ 50 % ¢ 40 & 2| 0.202 0202 x( 2 + + 0.404

{RERSUSE 2 x 21t

EREE ® 50 & 1| 0016 0016 x( 1 + + 0.016

BREER  SUS®50 3.247
FEER  SUS¢$50 1490 + 1.490 2.980
RE&FA ¢80 50
TUHFRAEYIR AyM 125 4 2 + 2 4
RE&F ¢80
ERFAFYIA 450X 350 X 320H | {& 1 1 1




SUS$80. PEP ¢50IR:EThER (M5 T. PEP ¢ 20~ ¢ 40{R#GKEMR (HE T HBHES

PEP ¢ 50mm:L=70.218m(70.218m)

R#67K : & 20mm X 2T+ ¢ 25mm X 3EFT+ @ 40mm X 2 F

HEREH (RFZE) Y :0.95m~0.60m~050m~FEH . (RFEAKE) £H#HY:0.50m~0.30m~FEH NO, 9
&g 4 R
IiE g _# BRTZE H % 7 BHR B _Z
KEHR
H# FYIFLVZ_BE ¢ 50 m 70.0 60 + 400 + 230 + 05 + 05 = 70.000
FYIFLVERBF
ARV Y b ® 50 & 1 1 = 1
FYIFLVERBF
LEDACVELPIN ¢ 50 & 2 2 = 2
FYIFLVERBF
Yk ® 50 & 1 1 = 1
[ 2AY 72 ¢ 50 = 1 1 = 1
EEER PEP¢$50 = 70.000
F@EiER PEP¢50 = 70.000




SUS$80. PEP ¢50IR:EThER (M5 T. PEP ¢ 20~ ¢ 40{R#GKEMR (HE T HBHES

EfE- 0% :SUS @ 80mm:L=189.572m(189.197m)+14.756m(14.756m)+1.038m(0.741m)=205.366m(204.694m)

PEP ¢ 50mm:L=70.218m(70.218m)

67K @ 20mm X 2 AT+ @ 25mm X 3EFT+ ) 40mm X 26 flr

FEk s (REEE) THY:095m~0.60m~0.50m~ FHi, (RibKE) £#Y:0.50m~0.30m~FEH NO. 9
&g 4 R
TiE g _# BRTZE s % & B _Z
FE ERT)
HER-AIER sus ENCiS mtEE N7
{REZSUSEMEZT ¢ 80 m 204.1/205.730 - 0.247 X 1 - 0808 - 0538 204.137
HER-AIER sus N7
{REZSUSEMET ¢ 50 m 2.8 3247 - 0420 2.827
B -AER E-Ibd  IME-ALT F-R F-RH U HH
REXSUSEMFT ¢80 a 108/ 8 + 11+ 6 + 2 4+ 4 +
2%
1 x 2 108
B -AER E-Iby  ILENLT F-RE 2%
REXSUSEMFT ¢ 50 a 9 2 + 3 4+ 2 4+ 1 x 2 9
HER-AIER HR 20 HRH25
REEERMAT $80 #® 4 2 + 2 4
EE - fEN
REERFHET 7.5K = 2 2 2
HBEE - fIEN
RECHKZEET BO ¢80x 65 | H
EE - fEN *vI2gY
RENVTRET $80 = 2 2 2
HBEE - fIEN RyIrEL
RENVTRET ¢ 50 = 2 2 2
H%ER
THIKER T b75% p75 (&7 1 1 1
SUSI7H#HAT 75 (&7 1 1 1
EEE
IV MET $80 75K [m] 1 1 1
EEE
MERLAABFT ¢80 a 1 1 1
EEE
MERLAABFT ¢ 50 a 1 1 1
EEE
MERLAABFT ® 40 a 20 2 2
BES 759
MERLAAMFIRIALT ¢80 a 1 1 1
¢ 150
Bt FERET H=0.70 (&7 1 1 1




SUS$80. PEP ¢50IR:EThER (M5 T. PEP ¢ 20~ ¢ 40{R#GKEMR (HE T HBHES

PEP ¢ 50mm:L=70.218m(70.218m)

R#67K : & 20mm X 2T+ ¢ 25mm X 3EFT+ @ 40mm X 2 F

HEREH (RFRE) Y :0.95m~0.60m~050m~FEH . (REAKE) £H#HY:0.50m~0.30m~FEH NO., 9
&g 4 R
TiE £ # BRTZE s % & B _Z
PEP
FE KUIFLVERMNT @50 m 700 700 = 70.000
PEP pESA 2 LESA
FYIFLVEHRFT ¢ 50 =] 5 1 + 1 x2 + 2 = 5
KYIFLYEYIET $50 m| 4 YEXRK 4 = 4
PEDS
HERLAHBTFT @50 m| 2 2 = 2
MIf FYAFLYTA—L
RET ¢ 50F m 700 700 = 70.000




SUS$80. PEP ¢50IR:EThER (M5 T. PEP ¢ 20~ ¢ 40{R#GKEMR (HE T HBHES

PEP ¢ 50mm:L=70.218m(70.218m)

R#67K : & 20mm X 2T+ ¢ 25mm X 3EFT+ @ 40mm X 2 F

HEREH (RFRE) Y :0.95m~0.60m~050m~FEH . (REAKE) £H#HY:0.50m~0.30m~FEH NO., 9
&g 4 R
TiE £ # BRTZE s % & B _Z
HE
FE BET)
EE - fEN
REESUSEBET ¢80 m 204.1| 204.137 204.137
HBEE - fIEN
REESUSEBWET ¢ 50 m 2.8 2827 2.827
EE - fEN
REESUSEHFINLT ¢80 a 108 108 108
HBEE - fIEN
REESUSEH#FINLT ¢ 50 m| 9 9 9
EE - fEN
REEERET ¢80 = 4 4 4
EE - fEN
REESFARMET 7.5K #® 20 2 2
HBEE - fIEN
RERHNAEHET | BEOM ¢80x ¢65  #H
HBEE - fIEN
RENVIEBET ¢80 = 20 2 2
EE - fEN
RENVIEBET ¢ 50 = 20 2 2
EEE
IV BFRSLT $80 7.5K =] 1 1 1
130V E
IV MET $80 75K m| 11 1
EEE
MERCAAMFRILT ¢80 [m} 1 1 1
EEE
MERLAAMFIRIALT $50 a 11 1
EEE
MERCAAMFRILT ¢ 40 [m} 2 2 2
PEP
FYIFLVERET $50 m 700 700 70.000
PEP
FYIFL ERFIMALT ¢ 50 m] 5 5 5
MERLAAMFIRIALT $50 a 20 2 2




SUS$80. PEP ¢50IR:EThER (M5 T. PEP ¢ 20~ ¢ 40{R#GKEMR (HE T HBHES

PEP ¢ 50mm:L=70.218m(70.218m)

67K @ 20mm X 2 AT+ @ 25mm X 3EFT+ ) 40mm X 26 flr

MRS (RERE) Y 095m~0.60m~0.50m~FEH . (RIEKE) LY 050m~0.30m~FFEH NO, 9
&g 4 R
IiE g _# KT Hir % & BH_Z
b [£T] [#E])
¢80
EEIETO E & #8(5-5-10-25) m 535 523 + 07 + 05 53.5
¢80
wEHILTIO EE$HE(G-10-10) | m 12 12 1.2
¢80
HEIETO TEEEG-10-10) | m 143 143 143
THiIK$80X ¢80
EHET@ AEEEG-10-10) | m 10 10 x 10 1.0
[#E]
¢80
EEIETO EE H8(5-5-10-25) m 535 523 + 07 + 05 53.5
¢80
EHILTO EE$H5E(G-10-10) | m 12 12 1.2
¢80
HEIETO TEEEG-10-10) | m 143 143 143




SUS$80. PEP ¢50IR:EThER (M5 T. PEP ¢ 20~ ¢ 40{R#GKEMR (HE T HBHES

EfE- 0% :SUS @ 80mm:L=189.572m(189.197m)+14.756m(14.756m)+1.038m(0.741m)=205.366m(204.694m)

PEP ¢ 50mm:L=70.218m(70.218m)

R#67K : & 20mm X 2T+ ¢ 25mm X 3EFT+ @ 40mm X 2 F

HEREH (RFRE) Y :0.95m~0.60m~050m~FEH . (REAKE) £H#HY:0.50m~0.30m~FEH NO., 9
&g 4 R
TiE £ # BRTZE s % & B _Z
H# [fRER#AKE]
ERF-2 447E
KYIFLVE AT $50x ¢20 11 1
ERF-2 447D
FYIFLUERBTF @50x% @25 1& 1 1 1
F% | [RBHKERTI])
MIH 447°A
RiGKEERT PEP ¢ 20 (&7 1 1 L=4.0m
M I E EES) 447°B THE
RIEKEERT PEP ¢ 25 AT 2 2 L=3.0m
M IR ELES 447°C TYE
RiGKEERT PEP ¢ 40 (&7 2 2 L=3.0m
I H(AE L) 447D
RIEKEERT PEP ¢ 25 AT 1 1 L=2.0m
MIH 447°E
RiGKEERT PEP ¢ 20 (&7 1 1 L=1.5m
[REEHEKERET]
447A
RiGKERMET PEP ¢ 20 (&7 1 1 L=2.0m
447'B THE
RIEKERET PEP ¢ 25 AT 2 2 L=3.0m
447°C THE
RIEKERET PEP ¢ 40 AT 2 2 L=3.0m
447D
RIEKERET PEP ¢ 25 AT 1 1 L=2.0m
447E
RIEKERET PEP ¢ 20 AT 1 1 L=2.0m
FE [+1] [frE%]
$20-25 447A
EHLTO TEEE(G-10-10) | m 20 20 1 & 20
$20-25 447B
BT EEEE(5-5-10-25) m 60 30 2 6.0
¢ 40 447°Cc
EEETO-2 EEEE(5-5-10-25) m 60 30 2 6.0
[#=]
$20-25 447A
EELTD TEEE(G-10-10) | m 20 20 1 & 20
$20-25 4478
EH LT EEEE(-5-10-25) m 60 30 2 6.0
¢ 40 447°Cc
EH LT -2 EEEE(-5-10-25) m 60 30 2 6.0




T I % B &£ & %
No. 9-1 NO. 1 TIO NO. 2 ) NO. 3 TI® NO. 4 TI@ NO. 5 NO. 6 NO. 7 NO. 8
R E (7i%) 53.5 =R L 1.2 =R L 14.3 =R L 1.0 =@ N =R L =R L =R L =R L
=R L =R L =R L =& N =R L =R L =R L =R L
£ i iR % ELE - EiE ELE - B g - Bl g - Bl INEE
AsEiZE b 2.00 107.00 2.00 2.40 2.00 28. 60 3.80 3.80 (141.80)(
SEYMRT t=15cmLLF m
AsEiZE ki 0. 60 32.10 0. 60 0.72 0. 60 8.58 0.90 0.90 ( 42.30)(
SHERREERE T |t=10cmL T m2
BHO. 28m3 0.35 18.73 0.35 0.42 0.38 5.43 0.84 0.84 ( 25.42)|(
AR YE T ME L m3
BHO. 28m3 0.52 0.52 ( 0.52 )| (
HHERT BAER m3
BHO. 28m3 0.32 17.12 0.33 0.40 0.33 4.72 0.24 0.24 ( 22.48)|(
HMERT FAEL m3
(RC-30) ( )| ¢
TrERET t=10cm m2
(RC-40) ( )| ¢
TrERET t=25cm m2
(RC-40) ( )| ¢
TrERET t=15cm m2
(RM-30) ( ) ¢
TERET t=17cm m2
(RM-30) ( )| ¢
TERET t=12cm m2
(RM-30) 0. 60 32.10 0. 60 0.72 0. 60 8.58 0.90 0.90 ( 42.30)(
TERET t=10cm m2
BEZHAs13mn 0. 60 0.72 0. 60 8.58 0.90 0.90 (10.20)(
R R 818 t=3cm m2
BEZH As13mm 0. 60 32.10 ( 32.10)(
R {818 t=5cm m2
BitunT -0.01 -0.54 -0. 02 -0. 02 0.01 0.14 0.57 0.57 ( 0.15)|(
() 4tDT m3
BitunT 0. 06 3.21 0. 06 0.07 0.03 0.43 0.05 0.05 ( 3.76 ) (
(AS) 4tDT m3,
ZAE 0.14 7.49 0.13 0.16 0.07 1.00 0.12 0.12 ( 8.77)(
AS5% t
EESE 0. 60 0.72 0.72
ERE{REIR (5-10-10) m2
EEEE 0. 60 32.10 32.10
ERE{REIR (5-5-10-25) m2
HEEE 0. 60 8.58 0.90 0.90 9.48
ERE{REIR (5-10-10) m2




T I % B &£ & %
No. 9-2 NO. 1 TIO NO. 2 ) NO. 3 TI® NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
RERE (%) 53.5 =R L 1.2 =R L 14.3 =R L =R L =R L =R L =R L =R L
=R L =R L =R L =R L =R L =R L =R L =R L
£ i iR % ELE - EiE ELE - B g - Bl INEE
AsEhEERR )
SEYMRT t=15cmLLF m
AsEiZE ki 0. 60 32.10 0. 60 0.72 0. 60 8.58 41.40)
SHERREERE T |t=10cmL T m2
BHO. 28m3 0.38 20. 33 0.39 0.47 0.39 5.58 26.38 )
AR YE T ME L m3
BHO. 28m3 )
HHERT BAL m3
BHO. 28m3 0.14 7.49 0. 26 0.31 0. 26 3.72 11.52)
HMERT FAEL m3
(RC-30) 0. 60 0.72 0. 60 8.58 9.30)
TrERET t=10cm m2
(RC-40) 0. 60 32.10 32.10)
TrERET t=25cm m2
(RC-40) )
TrERET t=15cm m2
(RM-30) 0. 60 32.10 32.10)
TERET t=15¢cm m2
(RM-30) 0. 60 0.72 0. 60 8.58 9.30)
TERET t=12cm m2
(RM-30) )
TERET t=10cm m2
BEZHAs13mn 0. 60 0.72 0. 60 8.58 9.30)
R R 818 t=3cm m2
BAZH As13mm 0. 60 32.10 32.10)
R {818 t=5cm m2
BitunT 0.22 11.77 0.10 0.12 0.10 1.43 13.32)
() 4tDT m3
BitunT 0.03 1.61 0.02 0.02 0.02 0.29 1.92)
(AS) 4tDT m3,
ZAE 0.07 3.75 0.04 0.05 0.05 0.72 4.52)
AS5% t
EESE 0. 60 0.72 0.72
ERE{REIR (5-10-10) m2
EEEE 0. 60 8.58 8.58
ERE{REIR (5-5-10-25) m2
HEEE 0. 60 8.58 8.58
ERE{REIR (5-10-10) m2




T I % B &£ & %
No. 9-3 NO. 1 F#HETD | NO.2 {R#E+T@-1| NO.3 {R#+T@-2| NO.4 NO. 5 NO. 6 NO. 7 NO. 8
RERFEAKE (5% 2.0 =R L 6.0 =R L 6.0 =R L =R L =R L =R L =R L =R L
=R L =R L =R L =R L =R L =R L =R L =R L {R#E7K
£ i iR % g - Bl ELE - EiE ELE - EiE & &t
AsEiZE b 2.00 4.00 2.00 12.00 2.00 12.00 28.00 )
SEYMRT t=15cmLLF m
AsEiZE ki 0.50 1.00 0.50 3.00 0.50 3.00 7.00)
SHERREERE T |t=10cmL T m2
BHO. 13m3 0.14 0.28 0.27 1.62 0.28 1.68 3.58)
AR YE T ME L m3
BHO. 13m3 0.10 0.20 0.1 0. 66 0.12 0.72 1.58)
HHERT BAER m3
BHO. 13m3 0.13 0.78 0.13 0.78 1.56 )
HMERT FAEL m3
(RC-30) )
TrERET t=10cm m2
(RC-40) )
TrERET t=25cm m2
(RC-40) )
TrERET t=15cm m2
(RM-30) )
TERET t=17cm m2
(RM-30) )
TERET t=12cm m2
(RM-30) 0.50 1.00 0.50 3.00 0.50 3.00 7.00)
TERET t=10cm m2
BAZH As13mm 0.50 1.00 1.00)
R R 818 t=3cm m2
BEZH As13mm 0.50 3.00 0.50 3.00 6.00 )
R {818 t=5cm m2
BitunT 0.14 0.28 0.13 0.78 0.14 0.84 1.90)
() 2tDT m3
BitunT 0.03 0. 06 0.05 0.30 0.05 0.30 0.66 )
(AS) 2tDT m3,
ZAE 0.07 0.14 0.12 0.72 0.12 0.72 1.58)
AS5% t
EESE
ERE{REIR (5-10-10) m2
EEEE 0.50 3.00 0.50 3.00 6.00
ERE{REIR (5-5-10-25) m2
HEEE 0.50 1.00 1.00
ERE{REIR (5-10-10) m2




T I % B &£ & %
No. 9-4 NO.1 m#A+T@ NO.2 {R#atT@-1"] NO.3 {r#a+T@-1"| NO.4 NO. 5 NO. 6 NO. 7 NO. 8
RERFEAKE (HZE) 2.0 =R L 6.0 =R L 6.0 =R L =R L =R L =R L =R L =R L
=R L =R L =R L =R L =R L =R L =R L =R L {R#E7K
£ i iR % g - Bl ELE - EiE ELE - EiE #E E
AsEhEERR ( )
SEYMRT t=15cmLLF m
AsEiZE ki 0.50 1.00 0.50 3.00 0.50 3.00 ( 7.00)
SHERREERE T |t=10cmL T m2
BHO. 13m3 0.15 0.30 0.29 1.74 0.30 1.80 ( 3.84)
AR YE T ME L m3
BHO. 13m3 ( )
HHERT BAER m3
BHO. 13m3 0.04 0.08 0.09 0.54 0.10 0. 60 ( 1.22)
HMERT FAEL m3
(RC-30) 0.50 1.00 ( 1.00)
TrERET t=10cm m2
(RC-40) 0.50 3.00 0.50 3.00 ( 6.00 )
TrERET t=25cm m2
(RC-40) ( )
TrERET t=15cm m2
(RM-30) 0.50 3.00 0.50 3.00 ( 6.00 )
TERET t=15¢cm m2
(RM-30) 0.50 1.00 ( 1.00)
TERET t=12cm m2
(RM-30) ( )
TERET t=10cm m2
BEZHAs13mn 0.50 1.00 ( 1.00)
R R 818 t=3cm m2
BEZH As13mm 0.50 3.00 0.50 3.00 ( 6.00 )
R {818 t=5cm m2
BitunT 0.1 0.22 0.19 1.14 0.19 1.14 ( 2.50)
() 2tDT m3
BitunT 0.02 0.04 0.03 0.18 0.03 0.18 ( 0.40)
(AS) 2tDT m3,
ZAE 0.05 0.10 0.07 0.42 0.07 0.42 ( 0.94)
AS5% t
EESE
ERE{REIR (5-10-10) m2
EEEE 0.50 3.00 0.50 3.00 6.00
ERE{REIR (5-5-10-25) m2
HEEE 0.50 1.00 1.00
ERE{REIR (5-10-10) m2




T I % B &£ & %
No. 9-5
RERE (51 No. 9- No. 9-2
fEEE BEEEH
£ i iR % & & EEHS
AsEiZE b ( 141.80) ( ) 141.80 )| ( 140 )
BT t=15cmEL F m
AsEiZE ki ( 42.30) ( 41.40) 83.70 )| ( 84)
SRR T [t=10cmU T m2
BHO. 28m3 ( 25.42) ( 26.38) 51.80 )| ( 50 )
AR YE T e+ m3
BHO. 28m3 ( 0.52) ( ) 0.52 )| ( 0.5)
HHERT BAER m3
BHO. 28m3 ( 22.48) ( 11.52) 34.00 )| ( 30)
HMERT FAEL m3
(RC-30) ( ) ( 9.30) 9.30 ) ( 9)
TEHRET t=10cm m2
(RC-40) ( ) ( 32.10) 32.10 )| ( 32)
TrERET t=25cm m2
(RC-40) ( ) ( ) )| ¢ )
TrERET t=15cm m2
(RM-30) ( ) ( 32.10) 32.10 )| ( 32)
TERET t=15¢cm m2
(RM-30) ( ) ( 9.30) 9.30 ) ( 9)
TERET t=12cm m2
(RM-30) ( 42.30) ( ) 42.30 )| ( 42)
LRERET t=10cm m2
BEZHAs13mn ( 10.20 ) ( 9.30) 19.50 )| ( 20)
R R 818 t=3cm m2
BEZH As13mm ( 32.10) ( 32.10) 64.20 )| ( 64 )
R {818 t=5cm m2
BitunT ( 0.15) ( 13.32) 13.47 )] ( 13)
() 4tDT m3
BitunT ( 3.76) ( 1.92) 5.68 ) ( 6)
(AS) 4tDT m3,
ZAE ( 8.71) ( 4.52) 13.29 ) ( 13.3)
AS5% t
EESE 0.72 0.7
ERE{REIR (5-10-10) m2
EEEE 32.10 8.58 40.7
ERE{REIR (5-5-10-25) m2
HEEE 9.48 8.58 18.1
ERE{REIR (5-10-10) m2




T I % B &£ & %
No. 9-6
RAEKE (F51) No. 9-3 No.9-4
R¥GKAEE & RIEKEE &
£ i iR % & & EEHS
AsEiZE b ( 28.00) ( ) 28.00 )| ( 28 )
BT t=15cmEL F m
AsEiZE ki ( 7.00) ( 7.00) 14.00 )| ( 14)
SRR T [t=10cmU T m2
BHO. 13m3 ( 3.58) ( 3.84) 7.42)]( 1)
AR YE T ME L m3
BHO. 13m3 ( 1.58) ( ) 1.58 )| ( 2)
HHERT BAER m3
BHO. 13m3 ( 1.56 ) ( 1.22) 2.78 ) ( 3)
HMERT FAEL m3
(RC-30) ( ) ( 1.00) 1.00 ) ( 1)
TEHRET t=10cm m2
(RC-40) ( ) ( 6.00 ) 6.00 ) ( 6)
TrERET t=25cm m2
(RC-40) ( ) ( ) )| ¢ )
TrERET t=15cm m2
(RM-30) ( ) ( 6.00 ) 6.00 ) ( 6)
TERET t=15¢cm m2
(RM-30) ( ) ( 1.00) 1.00 ) ( 1)
TERET t=12cm m2
(RM-30) ( 7.00) ( ) 7.00 ) ( 1)
LRERET t=10cm m2
BEZHAs13mn ( 1.00) ( 1.00 ) 2.00 )¢ 2)
R R 818 t=3cm m2
BEZH As13mm ( 6.00 ) ( 6.00 ) 12.00 )| ( 12)
R {818 t=5cm m2
BitunT ( 1.90) ( 2.50) 4.40 )| ( 4)
() 2tDT m3
BitunT ( 0.66 ) ( 0.40) 1.06 )| ( 1)
(AS) 2tDT m3,
ZAE ( 1.58) ( 0.94) 2.52)]( 2.5)
AS5% t
EESE
ERE{REIR (5-10-10) m2
EEEE 6.00 6.00 12.0
ERE{REIR (5-5-10-25) m2
HEEE 1.00 1.00 2.0
ERE{REIR (5-10-10) m2




+ I # it B =
No, 1
wrigEs = @D SUS$80 L= 535 m (#i#thy)
Brias B = [ FE (5-5-10-25) H= 0.60 m
s = 0090 X 009 X x / 4 = 0.006
2R = X /S 4 =
Im2%47
% EA H | & & i =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
e N
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
A B - 1.00 X 0.60 X( 0.69 — 0.10 )= m3 0.35
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.54 — 0.006 = m3 0.32
TSI T (RC-40)
t=25cm mZ2
/BT (RM-30)
t=10cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=bcm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.35 —( 0.32 =+ 0.90 )= m3 -0.01
FE T 4DT
TGS TR 1.00 X 0.60 X 0.10 = m3 0.06
TAE
TR77 /b 0.06 X 235 = ¢ 0.14




T T H E i B

a5 = @  SUS ¢80 L= 1.2 m (HH7RHF)

i

No,2

Brigi B = [HEAFE (5-10-10) H= 0.60 m

s = 0090 X 009 X x / 4 = 0.006

Fag = x X x [ 4 =

1m247

& i A Ho &K & =

AL YL
AsEHEEIK t=15cmIL T 1.00 X 2 = m 2.00

e N
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60

KA. BHO.28m3
- A BT 1.00 X 0.60 X(0.69 — 0.10 )= m3 0.35

HHECT BHO.28m3
LN AR m3

HEECT BHO.28m3
SNl TS A 1.00 X 0.60 X 056 — 0.006 = m3 0.33

FEEEE T (RC~-40)
t=2bcm mZ2

RS T (RM-30)
t=10cm 1.00 X 0.60 = m2 0.60

BEIETIRIE IH (FAE B #7As 1 3mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60

A5 L 4tDT wmElE WAL
HAB L 0.35 —( 0.33 + 0.90 )= m3 -0.02

FELH T 4tDT
FFIAB TAT7 Nk 1.00 X 0.60 X 0.10 = m3 0.06

AR
TAZ7 bk 0.06 X 220 = t 0.13




prm#s = &

SUS ¢ 50

T I

L= 14.3

m_(1li#hF)

PR = i #a (5-10-10)

H=_0.60

EEE = 0090 X

0.090

= 0.006

R =

=111}
—+

"

i

No,3

Y

&

E

7

# ]

# &

%

AILECIr T
AsBHEER t=15cmll

1.00

X 2

2.00

e N
AsBHEER t=10cmll

1.00

X 0.60

mZ2

0.60

LHE 1. BHO.28m3
Wi A - FEE A

1.00

X 0.60

X (0.69

— 0.05 )

m3

0.38

HHECT BHO.28m3
LN AR

m3

HEECT BHO.28m3
LN FEAE A

1.00

X 0.60

X _0.56

— 0.006

m3

0.33

AT (RC-40)
t=25cm

mZ2

LT (RM=30)
t=10cm

1.00

X 0.60

mZ2

0.60

BEIETIRIE IH (FAE B #7As 1 3mm, A 7))

t=3cm

1.00

X 0.60

mZ2

0.60

FELH T 4tDT
FHiAS A%

IR
0.38

it

—( 0.33

+ 0.90 )

m3

0.01

FELH T 4tDT
FEARL TAT7 Y

1.00

X 0.60

X 0.05

m3

0.03

RAE
TA77 /bR

0.03

X 2.35

0.07




T I #% E & & EBE
No,4
WraES = @  DIPg75 L= 1.0 m XIEPI=L10m (FEATFE)
Bt 7 = B FE(5-10-10) H= 0.60 m
R = 0090 X 0.090 X x,/1 X 100 = 0.006 (KE)
B = 0090 X 0090 X /1 X 0.50 = 0.003 (GUEE)
15972450
% B EA H | & & i =
BRI T
AsEHRERE t=15cmbL T 1.00 X 2 4+ 090 X 2 = m 3.80
LERIE 1. BHO.28m3
AsBHEER t=10cmll 1.00 X 0.90 = m2 0.90
I T. BHO.28m3
BRI A BEE - 1.00 X 0.90 X( 0.99 — 0.05 )— 0.006 m3 0.84
HHEE T BHO.28m3
LLNFEESD AR 1.00 X 0.90 X 0.59 — 0.006 — 0.003 m3 0.52
HHET. BHO.28m3
LGRS FAE A 1.00 X 0.90 X 0.27 = m3 0.24
TSI T (RC-30)
t=10cm mZ2
/BT (RM-30)
t=10cm 1.00 X 0.90 = m2 0.90
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.90 = m2 0.90
LML 4DT wmElE WAL
FBUAL | 084 —( 0.24 +~ 0.90 )= m3 0.57
FE T 4DT
TGS TR 1.00 X 0.90 X 0.05 = m3 0.05
EIN:
TR77 /b 0.05 X 235 = ¢ 0.12




T I #% E & & EBE
No, 1
a5 = @  SUS ¢80 L= 53.5 m (JEHF)
Brias B = [ FE (5-5-10-25) H= 0.60 m
s = 0090 X 009 X x / 4 = 0.006
2R = X /S 4 =
Im2%47
% EA H | & & =
BRI T
AsEHHEIR t=15cmIL T m
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.69 — 0.05 )— 0.006 =| ms3 0.38
TR 1. BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.24 = m3 0.14
TSI T (RC-40)
t=25cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=15cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=bcm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.38 —( 0.14 =+ 0.90 )= m3 0.22
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TR77 /b 0.03 X 235 = ¢ 0.07




T T H E i B

B &5 = @  SUS ¢80 L= 1.2 m (L)

i

No,2

Brigi B = [HEAFE (5-10-10) H= 0.60 m

s = 0090 X 009 X x / 4 = 0.006

Fag = x X x [ 4 =

1m247

& i A Ho &K & =

AL YL
AsEHEEIK t=15cmIL T m

e N
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60

ST BHO.28m3
W E 1B 1.00 X 0.60 X( 0.69 — 0.03 )— 0.006 =[ m3 0.39

HHECT BHO.28m3
LN AR m3

HEECT BHO.28m3
SNl TS A 1.00 X 0.60 X 0.44 = m3 0.26

TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60

RS T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60

BEIETIRIE IH (FAE B #7As 1 3mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60

A5 L 4tDT wmElE WAL
HAB L 0.39 —( 0.26 +~ 0.90 )= m3 0.10

FELH T 4tDT
FFIAB TAT7 Nk 1.00 X 0.60 X 0.03 = m3 0.02

AR
TAZ7 bk 0.02 X 220 = t 0.04




prm#s = &

SUS ¢ 50

T I

14.3

m

(ESED

=3
8

PR = i #a (5-10-10)

0.60

EEE = 0090 X

0.090

0.006

R =

=111}
—+

"

i

No,3

Y

&

E

7

# ]

# &

%

AILECIr T
AsBHEER t=15cmll

e N
AsBHEER t=10cmll

1.00

X _0.60 =

mZ2

0.60

LHE 1. BHO.28m3
Wi A - FEE A

1.00

X 0.60 X ( 0.69

0.03 ) — 0.006

m3

0.39

HHECT BHO.28m3
LN AR

m3

HEECT BHO.28m3
LN FEAE A

1.00

X _0.60 X

0.44

m3

0.26

FEHE T (RC-30)
t=10cm

1.00

X _0.60 =

mZ2

0.60

LT (RM=30)
t=12cm

1.00

X _0.60 =

mZ2

0.60

BEIETIRIE IH (FAE B #7As 1 3mm, A 7))

t=3cm

1.00

X _0.60 =

mZ2

0.60

FELH T 4tDT
FHiAS A%

IR
0.39

i
—( 0.26 =+

0.90 )

m3

0.10

FELH T 4tDT
FEARL TAT7 Y

1.00

X _0.60 X

0.03

m3

0.02

RAE
TA77 /bR

0.02

X 235 =

0.05




T I #% E & & EBE
No, 1
Wrigis 5 = (Rk#Gd) PEP g 20-25 L= 20 m
Bt B = inE#aE (5-10-10) H= 0.30 m
EREE = 0030 X 0030 X x / 4 = 0.001
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.50 X( 0.33 — 0.05 )= m3 0.14
T BHO. 13m3
K NFRED AR 1.00 X 0.50 X 0.20 — 0.001 = m3 0.10
T BHO. 13m3
S NGEIED R A m3 0.00
TSI T (RC-30)
t=10cm mZ2
/BT (RM-30)
t=10cm 1.00 X 0.50 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
LG T 2tDT Al AL
FEAA 1+ 0.14 —( 0.00 = 0.90 )= m3 0.14
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 050 X 0.05 = m3 0.03
TAE
TAT7 /iR 0.03 X 235 = t 0.07




T I #% E & & EBE
No,2
W5 =  fkig@-1 PEP ¢ 20°25 L= 6.0 m
B s B = [ FE (5-5-10-25) H= 0.60 m
EREE = 0030 X 0030 X x / 4 = 0.001
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
e N
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
1 BHO.13m3
BRI A BEE - 1.00 X 050 X( 0.63 — 0.10 )= m3 0.27
i T BHO. 13m3
LN AR 1.000 X 0.50 X 0.23 — 0.001 = m3 0.11
i T BHO. 13m3
BN FEAE A 1.00 X 050 X 0.25 = m3 0.13
TSI T (RC-40)
t=25cm mZ2
/BT (RM-30)
t=10cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 0.50 = m2 0.50
LG T 2tDT wmElE WAL
FBUAL | 027 —( 0.13 + 0.90 )= m3 0.13
FELH T 2tDT
FEAB TAT7 MR 1.00 X 050 X 0.10 = m3 0.05
TAE
TAZ7 b 0.05 X 235 = ¢ 0.12




+ T it B =
No,3
B s = kig@-2 PEP$ 40 L= 6.0 m
B s B = [ FE (5-5-10-25) H= 0.60 m
B = 0050 X 0050 X x / 4 = 0.002
EHE = X /S 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.50 X( 0.65 — 0.10 )= m3 0.28
T BHO. 13m3
K NFRED AR 1.00 X 0.50 X 0.25 — 0.002 = m3 0.12
T BHO. 13m3
LG TN A 1.00 X 050 X 0.25 = m3 0.13
TSI T (RC-40)
t=25cm mZ2
/BT (RM-30)
t=10cm 1.00 X 0.50 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=5cm 1.00 X 0.50 = m2 0.50
LG T 2tDT Al AL
FEAS 177 0.28 —( 0.13 = 0.90 )= m3 0.14
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 050 X 0.10 = m3 0.05
TAE
TAT7 /iR 0.05 X 235 = t 0.12




T I #% E & & EBE
No, 1
Brigi& 5 = (ki@ PEP$20-25 L= 20 m (L)
Bt B = inE#aE (5-10-10) H= 0.30 m
EREE = 0030 X 0030 X x / 4 = 0.001
2R = X /S 4 =
Im2%47
% B EA H | & & =
BRI T
AsEHEEIK t=15cmIL T m
LN T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
A T BHO.13m3
BRI A BEE - 1.00 X 050 X( 0.33 — 0.03 )— 0.001 =| m3 0.15
HHE T BHO. 13m3
LK AR m3
HE T BHO. 13m3
BN FEAE A 1.00 X 050 X 0.08 = m3 0.04
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 050 = m2 0.50
LML 2tDT wmElE WAL
FBUAL | 0.15 —( 0.04 =+ 0.90 )= m3 0.11
FEH T 2tDT
TGS TR 1.00 X 050 X 0.03 = m3 0.02
TAE
TR 7/ 0.02 X 235 = ¢ 0.05




T I #% E & & EBE
No,2
WrigiE S = gw@-1 PEP¢ 2025 L= 6.0 m (L)
B s B = [ FE (5-5-10-25) H= 0.60 m
EREE = 0030 X 0030 X x / 4 = 0.001
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsEHEEIK t=15cmIL T m
LN T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
A T BHO.13m3
W A BEE A 1.00 X 050 X( 0.63 — 0.05 )— 0.001 =| m3 0.29
HHE T BHO. 13m3
S NFEIED PR m3
HE T BHO. 13m3
LGRS FAE A 1.00 X 050 X 0.18 = m3 0.09
TSI T (RC-40)
t=25cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=15cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=bcm 1.00 X 050 = m2 0.50
LML 2tDT wmElE WAL
FBUAL | 0.29 —( 0.09 = 0.90 )= m3 0.19
FEH T 2tDT
TGS TR 1.00 X 050 X 0.05 = m3 0.03
TAE
TR 7/ 0.03 X 235 = ¢ 0.07




T I #% E & & EBE
No,3
W5 = iw@-2 PEP$ 40 L= 6.0 m (L)
B s B = [ FE (5-5-10-25) H= 0.60 m
B = 0050 X 0050 X x / 4 = 0.002
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsEHEEIK t=15cmIL T m
LN T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
A T BHO.13m3
BRI A BEE - 1.00 X 050 X( 0.65 — 0.05 )— 0.002 =| m3 0.30
HHE T BHO. 13m3
S NFEIED PR m3
HE T BHO. 13m3
LGRS FAE A 1.00 X 050 X 0.20 = m3 0.10
TSI T (RC-40)
t=25cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=15cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=bcm 1.00 X 050 = m2 0.50
LML 2tDT wmElE WAL
FBUAL | 0.30 —( 0.10 = 0.90 )= m3 0.19
FEH T 2tDT
TGS TR 1.00 X 050 X 0.05 = m3 0.03
TAE
TR 7/ 0.03 X 235 = ¢ 0.07




ATUVLAMEEHMFAER (EMH)

O & 80A
LUAILE
m A b HE| B AGL| B @M €£2B(H)|E=E (k) b}

EE (L=4.0) 39 x 7176
EE (L=2.0) 9 PN 87.3
EE (L=1.0) 8 VN 43.2
B (L=05) 9 VN 28.8
EE (L=0.3) 5 X 15
BERAEE 2 1& 8.2
ILFE(L=1.0) 11 X 51.7
90° TJLAR 7 & 16.8
45° T )L 2 & 36
F—X(x50) 2 & 5.8
F—X(x80) 4 & 13.2
AR—ILNILT 2 £ 19.0
LYa—4—(x50) 1 & 14
U L5 E (20A) 2 1& 36
U L5 E (25A) 2 & 36
BEE (T700) 1 1& 5.2
BiHEE (D) 1 1& 1.8
BiEE (Zx=21) 1 1& 1.4
BGEE (Fvvd) 1 1& 1.1
ERF 2 = 18.0

& B 1,042.8 kg




ATULAMEEHEER (T DMt

o #® 80A
L &)L B
A S I - BME| B A B M | £%23 (H)|E =2 (k) b
NILT RO R 2 {& 12.6
ERFRYIR 1 & 78.6
& 5 91.2 kg




ATUVLAMEEHMFAER (EMH)

A &% 50A
L2V BE%
BEER
m & - R HE|BEAML| B MM [£8B(H)|EE (k) b}
ILFE (L=1.0) 2 y:N 5.4
90° T/LR 1 f& 12
R—JLN LD 2 = 72
BiHEE (D) 1 1& 1.0
HEfuiEE (504EL x 40854aL) 2 1@ 14
BiEE (Zx=21) 1 1& 0.9
= = 17.3 kg




ATULAMEEHEER (T DMt

o & 50A
L &)L B
A S I - BME| B A B M |£%282 (A)|EE (k) ]
NILT RO R 2 {& 12.6
= = 12.6 kg




ENIEE —RTEHGE —REE1855 51 1K ¢ 50mm~ ¢ 150mMEKEmRE L=

£ % K m

LERKELEESEXA=ZIREHBHN




*Eﬁ“ﬁﬁ §=1/20

% () 9Bl
@ BEEREE @ EESHE ®@ TWEEE
(5-5-10-25) (5-10-10) (5-10-10)
| EME IR L) IR
BEBNET R (13) BEERET A3 (19 BEBRET R (19)
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